IN THE UNITED STATES BANKRUPTCY COURT FOR THE DISTRICT OF DELAWARE

| In re: | Chapter 11 | | |
|--|---|--|--|
| TRICIDA, INC.,1 | Case No. 23-10024 (JTD) | | |
| Debtor. | Objection Deadline: May 30, 2023 at 4:00 p.m. (ET) | | |
| WOMBLE BOND DICKINSON FOR SERVICES RENDERED AND AS COUNSEL FOR THE OFFICIA | THLY FEE APPLICATION OF (US) LLP FOR COMPENSATION REIMBURSEMENT OF EXPENSES AL COMMITTEE OF UNSECURED XY 24, 2023 THROUGH FEBRUARY 28, 2023 | | |
| Name of Applicant: | Womble Bond Dickinson (US) LLP | | |
| Authorized to Provide Professional Services to: | Official Committee of Unsecured Creditors | | |
| Date of Retention: | January 24, 2023 | | |
| Period for which Compensation and Reimbursement is Sought: | January 24, 2023 through February 28, 2023 | | |
| Amount of Compensation Sought as Actual, Reasonable and Necessary: | \$284,112.80 (80% of 355,141.00) | | |
| Amount of Expense Reimbursement Sought as Actual, Reasonable and Necessary: | \$8,028.12 | | |
| This is a(n): X Monthly In | terim Final Fee Application | | |
| This is WBD's first monthly application. | | | |

The total time expended in connection with the preparation of this fee application is not included

herein as such time was expended after the Application Period.



¹ The Debtor in this chapter 11 case, together with the last four digits of the Debtor's federal tax identification number, is Tricida, Inc. (2526). The Debtor's service address is 7000 Shoreline Court, Suite 201, South San Francisco, CA 94080.

SUMMARY OF PROFESSIONAL SERVICES RENDERED BY WOMBLE BOND DICKINSON (US), LLP ON BEHALF OF THE OFFICIAL COMMITTEE OF UNSECURED CREDITORS FOR THE PERIOD JANUARY 24, 2023 THROUGH FEBRUARY 28, 2023

| Name of Professional Person | Position of the Applicant/ Date Admitted to Bar | Hourly Billing Rate | Total Hours Billed | Total Compensation |
|--------------------------------|---|------------------------|-----------------------|-----------------------|
| Robert R. Ambler, Jr. | Partner; Joined WBD 2003 | \$940 | 26.6 | \$25,004.00 |
| Jane Jeffries Jones | Partner; Joined WBD 1992 | \$895 | 0.9 | \$805.50 |
| Jeffrey T. Lawyer | Partner; Joined WBD 2007 | \$875 | 3.8 | \$3,325.00 |
| Karthika Perumal | Partner; Joined WBD 2019 | \$825 | 47.6 | \$39,270.00 |
| Matthew P. Ward | Partner; Admitted to Delaware Bar 2003; Joined WBD 2008 | \$785 | 10.3 | \$8,085.50 |
| Donald J. Detweiler | Partner; Admitted to Delaware Bar 1992; Joined WBD 2022 | \$785 | 179.1 | \$140,593.50 |
| Michael R. DeHart | Of Counsel; Joined WBD 2022 | \$655 | 2.3 | \$1,506.50 |
| Todd A. Atkinson | Counsel; Admitted to Delaware Bar 2006; Joined WBD 2020 | \$525 | 120.0 | \$63,000.00 |
| Matthew L. Hickman | Associate; Joined WBD 2022 | \$370 | 15.4 | \$5,698.00 |

Case 23-10024-JTD Doc 443 Filed 05/09/23 Page 3 of 17

| Total Blended Rate: | | | | \$587.88 |
|---------------------|---|-------|-------|--------------|
| Totals: | | | 604.1 | \$355,141.00 |
| Heather K. Hall | Paralegal; Joined WBD 2014 | \$310 | 1.8 | \$558.00 |
| Cynthia S. Giobbe | Paralegal; Joined WBD 2022 | \$350 | 55.3 | \$19,355.00 |
| Elazar A. Kosman | Associate; Admitted to Delaware Bar 2023; Joined WBD 2023 | \$340 | 141.0 | \$47,940.00 |

SUMMARY OF SERVICES BY TASK CODE FOR PROFESSIONAL SERVICES RENDERED BY WOMBLE BOND DICKINSON (US) LLP ON BEHALF OF THE OFFICIAL COMMITTEE OF UNSECURED CREDITORS FOR THE PERIOD JANUARY 24, 2023 THROUGH FEBRUARY 28, 2023

| TASK CODE | TASK DESCRIPTION | HOURS | AMOUNT |
|-----------|---|-------|--------------|
| BKAV | Adversary | 14.6 | \$4,964.00 |
| BKAA | Asset Analysis/Estate Property Due Diligence | 23.8 | \$19,467.00 |
| BKAD | Asset Disposition - General | 147.4 | \$98,148.00 |
| BKBD | Bar Date | 1.4 | \$1,073.00 |
| BKBO | Business Operations/Meetings with Debtor | 1.4 | \$943.00 |
| BKCC | Cash Collateral | 0.4 | \$140.00 |
| BKO | Claims Administration | 1.2 | \$420.00 |
| BKH | Court Hearings/Preparation/Agenda | 27.5 | \$13,168.00 |
| BKCI | Creditor Information Sharing/1102 Matters | 0.5 | \$392.50 |
| BKC | Creditors Committee Meeting/Conferences | 35.8 | \$22,796.50 |
| BKDS | Disclosure Statement | 39.6 | \$21,417.00 |
| BKDIS | Discovery | 18.1 | \$7,791.00 |
| BKEB | Employee Benefits | 1.5 | \$1,177.50 |
| BKFT | Estate Causes of Action (Non-Preference) | 2.0 | \$680.00 |
| BKE | Executory Contracts/Lease Agreements | 0.8 | \$411.00 |
| BKF | Fee Application/Monthly Billing | 1.8 | \$630.00 |
| BKFE | Fee/Employment Objections | 7.1 | \$2,485.00 |
| BKFDP | First Day Pleadings | 12.7 | \$6,585.50 |
| BKG | General Case Administration | 13.8 | \$6,471.50 |
| BKGO | GOB Sale | 3.7 | \$1,295.00 |
| BKII | Insurance Issues | 0.9 | \$472.50 |
| BKIC | Intra-Office Conference/Multi-Person Activities | 0.4 | \$314.00 |
| BKB | Investigation of Claims | 46.3 | \$38,795.00 |
| BKM | Other Motion Practice | 11.1 | \$3,776.00 |
| BKPO | Plan of Reorganization | 19.5 | \$11,618.00 |
| BKRS | Reports and Schedules | 2.4 | \$1,754.00 |
| BKRA | Retention of Applicant | 31.9 | \$11,348.00 |
| BKRO | Retention of Others | 117.3 | \$62,599.00 |
| BKTI | Tax Issues | 5.0 | \$4,214.00 |
| BKTT | Travel Time | 11.9 | \$8,327.50 |
| BKTM | US Trustee Matters | 2.3 | \$1,467.50 |
| | Total | 604.1 | \$355,141.00 |

SUMMARY OF EXPENSES INCURRED BY WOMBLE BOND DICKINSON (US) LLP ON BEHALF OF THE OFFICIAL COMMITTEE OF UNSECURED CREDITORS FOR THE PERIOD JANUARY 24, 2023 THROUGH FEBRUARY 28, 2023

| EXPENSE CATEGORY | AMOUNT |
|-----------------------------------|------------|
| Binding | \$64.00 |
| Business Meal | \$311.54 |
| Copying/Printing | \$21.20 |
| Deposition Transcript | \$2,293.88 |
| Document Printing (Black & White) | \$16.32 |
| Document Printing (Color) | \$1,423.55 |
| Express Delivery Charge | \$51.98 |
| Lodging | \$794.15 |
| Photocopies | \$818.76 |
| Postage | \$173.94 |
| Transportation | \$1,992.80 |
| Travel Expense (Parking) | \$66.00 |
| Total Expenses Requested: | \$8,028.12 |

| TRAVEL EXPENSE DETAIL | | | | |
|-----------------------|---|---------------------|--|----------|
| Date | Mode of Transportation/ Accommodations | Individual(s) | Departure & Destination | Amount |
| 2/09/23 | Lodging. Courtyard by Marriott | Todd A. Atkinson | Hearing to consider Miller Buckfire Retention | \$218.90 |
| 2/15/23 | Flight | Todd A. Atkinson | Round trip, Cleveland, OH – Newark, NJ Tricida Auction | \$927.80 |
| 2/15/23 | Train | Todd A. Atkinson | New Jersey Airport to New York, NY – Auction | \$15.50 |
| 2/15/23 | Train | Donald J. Detweiler | Travel from Wilmington, DE to New York, NY for Auction | \$358.00 |
| 2/15/23 | Train | Donald J. Detweiler | Travel from New York, NY to Wilmington, DE | \$174.00 |

| | | | for Auction | |
|-------------|---------------------------------|-------------------------|--|----------|
| 2/15/23 | Parking | Todd A. Atkinson | Cleveland, OH Airport – Auction | \$44.00 |
| 2/15/23 | Lodging. Thompson Central Park | Todd A. Atkinson | Tricida Auction at Sidley & Austin NYC Office | \$575.25 |
| 2/15/23 | Parking – Riverfront Parking | Donald Detweiler | Auction | \$11.00 |
| 2/16/23 | Flight | Todd A. Atkinson | Round trip, Cleveland, OH – Newark, NJ Tricida Auction | \$19.00 |
| 2/16/23 | Train | Todd A. Atkinson | New York, NY to Newark Airport | \$15.50 |
| 2/16/23 | Parking – Riverfront Parking | Donald Detweiler | Auction | \$11.00 |
| 02/16/23 | Flight | Todd A. Atkinson | Round trip, Cleveland, OH – Newark, NJ Tricida Auction | \$19.00 |
| 2/25/23 | Train | Donald J. Detweiler | Round trip, Delaware to New York, NY for Auction | \$464.00 |
| Total Trans | portation, Lodging and Par | king Expenses | \$2,852.95 | |
| | | BUSINESS MEAL DETA | AIL | |
| Date | Meal Type | Meal & Number of People | Description | Amount |
| 02/15/23 | Dinner | 1 – Todd A. Atkinson | Tricida Auction | \$23.75 |
| 2/21/23 | Lunch | 5 – Donald Detweiler | Sale Hearing | \$287.79 |
| Total | | | 11.54 | |

IN THE UNITED STATES BANKRUPTCY COURT FOR THE DISTRICT OF DELAWARE

| In re: | Chapter 11 |
|-----------------|--|
| TRICIDA, INC.,1 | Case No. 23-10024 (JTD) |
| Debtor. | Objection Deadline: May 30, 2023 at 4:00 p.m. (ET) |

FIRST MONTHLY FEE APPLICATION OF
WOMBLE BOND DICKINSON (US) LLP FOR COMPENSATION
FOR SERVICES RENDERED AND REIMBURSEMENT OF EXPENSES
AS COUNSEL FOR THE OFFICIAL COMMITTEE OF UNSECURED CREDITORS
FOR THE PERIOD JANUARY 24, 2023 THROUGH FEBRUARY 28, 2023

Womble Bond Dickinson (US) LLP ("WBD"), Delaware counsel to the Official Committee of Unsecured Creditors (the "Committee") of Tricida, Inc. (the "Debtor"), submits its first monthly fee application (the "Application"), pursuant to sections 330(a), 331, and 1103 of Title 11 of the United States Code, 11 U.S.C. §§ 101-1532 (as amended, the "Bankruptcy Code"), Rule 2016 of the Federal Rules of Bankruptcy Procedure (the "Bankruptcy Rules"), Local Rule 2016-2 of the Local Rules of Bankruptcy Practice and Procedure of the United States Bankruptcy Court for the District of Delaware (the "Local Rules"), the United States Trustee Guidelines for Reviewing Applications for Compensation and Reimbursement of Expenses Filed Under 11 U.S.C. § 330 issued by the Executive Office for United States Trustees (the "Guidelines"), and this Court's Order Establishing Procedures for Interim Compensation and Reimbursement of Expenses for Professionals [Docket No. 152] (the "Interim Compensation Order"), entered February 6, 2023,2 for the allowance of (i) interim compensation for

¹ The Debtor in this chapter 11 case, together with the last four digits of the Debtor's federal tax identification number, is Tricida, Inc. (2526). The Debtor's service address is 7000 Shoreline Court, Suite 201, South San Francisco, CA 94080.

² Capitalized terms used herein but not capitalized shall have the meaning(s) ascribed to them in the Interim Compensation Order.

professional services performed by WBD for the period January 24, 2023 through February 28, 2023 (the "Application Period") in the amount of \$355,141.00 and (ii) reimbursement of its actual and necessary expenses in the amount of \$8,028.12 incurred during the Application Period. In support of the Application, WBD respectfully represents as follows:

JURISDICTION AND VENUE

- 1. This Court has jurisdiction over this Application pursuant to 28 U.S.C. §§ 157 and 1334.
- 2. Venue of this case and this Application is proper in this district pursuant to 28 U.S.C. §§ 1408 and 1409.
- 3. The statutory predicates for the relief sought herein are Bankruptcy Code sections 330 and 331.

BACKGROUND

- 4. On January 11, 2023 (the "<u>Petition Date</u>"), the Debtor filed a voluntary petition for relief under chapter 11 of the Bankruptcy Code with this Court. Since the Petition Date, the Debtor has remained in possession of its assets and has continued to operate and manage its business as debtor-in-possession pursuant to sections 1107(a) and 1108 of the Bankruptcy Code.
- 5. On January 23, 2023, the Office of the United States Trustee for Region 3 appointed a three-member Committee consisting of: (i) U.S. Bank Trust Company, N.A., as Indenture Trustee for the 3.50% Convertible Senior Notes Due 2027; (ii) Patheon Austria GmbH & Co. KG; and (iii) Medpace Research, Inc. [Docket No. 90].
- 6. The Committee selected Womble Bond Dickinson (US) LLP as its lead counsel.

 The Committee also selected Rock Creek Advisors, LLC to serve as its financial advisor.
- 7. On February 16, 2023, the Committee applied to the Court for an order authorizing the Committee to retain and employ WBD as counsel, effective as of January 24,

2023 [Docket No. 206]. On March 7, 2023 the Court entered an Order approving the retention of WBD as counsel to the Committee, effective as of January 24, 2023 [Docket No. 276].

SUMMARY OF APPLICATION PERIOD

- 8. During the Application Period, WBD performed the services for the Committee for which it is seeking compensation. WBD received no payment and no promises of payment from any source, other than the Debtor, for services rendered, or to be rendered, in any capacity whatsoever in connection with the matters covered by this Application. There is no agreement or understanding between WBD and any other person, other than members of the firm, for the sharing of compensation received for services rendered in this case.
- 9. WBD maintains computerized records of the time spent by all WBD attorneys and paraprofessionals in connection with its representation of the Committee. Subject to reduction where necessary to preserve attorney-client privilege, relevant copies of the computerized records showing detailed time entries relating to the fees incurred by WBD in the amount of \$355,141.00 during the Application Period are attached as Exhibit A.
- 10. WBD also expended costs on behalf of the Committee in the sum of \$8,028.12. A detailed accounting of the costs expended by WBD is attached as Exhibit B.
- 11. WBD seeks monthly allowance and payment, pursuant to Bankruptcy Code sections 330 and 331, of all fees and expenses incurred from the commencement of its services on January 24, 2023 through and including February 28, 2023. The firm's total fees sought for the Application Period are \$355,141.00, and its total expenses are \$8,028.12.
- 12. Pursuant to the Interim Compensation Order, 80% of the firm's fees, or \$284,112.80 is payable to WBD, together with 100% of the firm's expenses, absent an objection to the Application.

A. Summary of Services Rendered by WBD during the Application Period

- 13. This Application is the first monthly fee application for interim compensation that WBD has filed with the Court in this case. During the Application Period, WBD provided significant professional services to the Committee in its efforts to maximize value to the estate's stakeholders.
- 14. During the Application Period, WBD professionals prepared for and conducted telephonic meetings with the Committee and Committee professionals regarding the Debtor's financial condition and case management. WBD professionals also spent time reviewing and analyzing the Debtor's various first day motions and related issues, including issues related to the Debtor's motion for post-petition financing, and preparing for the February 9, 2023 second day hearing. Further, WBD professionals spent time in connection with retention matters. Additional services rendered to the Committee by WBD during the Application Period are described in the itemized time records for professionals and paraprofessionals attached hereto as Exhibit A.
- 15. During the Application Period, WBD billed the estate for time expended by attorneys and paraprofessionals based on hourly rates ranging from \$310.00 to \$940.00 per hour. The professional services performed by WBD on behalf of the Committee during the Application Period required an aggregate expenditure of 604.1 recorded hours by WBD's partners, counsel, associates, and paraprofessionals. WBD's blended hourly rate for services provided during the Application Period was \$587.88.
- 16. The fees charged by WBD, as set forth in <u>Exhibit A</u>, are billed in accordance with WBD's existing billing rates and procedures in effect during the Application Period. The rates that WBD charges for services rendered by its professionals and paraprofessionals in this chapter

11 case were comparable rates for professional and paraprofessional services rendered in bankruptcy and non-bankruptcy related matters in a competitive national legal market.

- 17. All entries itemized in WBD's time records comply with the requirements set forth in Local Rule 2016-2, including, without limitation, (i) the utilization of project categories, (ii) a description of each activity or service that each individual performed, and (iii) the number of hours (in increments of one-tenth of an hour) spent by each individual providing the services. Each project category in Exhibit A is organized in accordance with WBD's internal system of project category or work codes (each a "Task Code"). If a Task Code does not appear, then WBD did not bill time or expenses for that Task Code during the Application Period, but may bill time for that Task Code in the future. In accordance with Local Rule 2016-2(d)(viii), task code BKTT-Travel Time is billed at 50% of the regular hourly rates. Furthermore, in accordance with Local Rule 2016-2(d)(x), all activity descriptions in Exhibit A are presented chronologically within each Task Code category.
- 18. The professional services performed by WBD were necessary and appropriate to the administration of this case. The professional services performed by WBD were in the best interests of the Committee and other parties in interest. Compensation for the foregoing services as requested is commensurate with the complexity, importance, and time-sensitive nature of the problems, issues, or tasks involved. The professional services were performed with expedition and in an efficient manner.
- 19. In accordance with the factors enumerated in Bankruptcy Code section 330, the amount of fees requested is fair and reasonable given: (a) the complexity of the case; (b) the time expended; (c) the nature and extent of the services rendered; (d) the value of such services;

(e) WBD's established expertise in the bankruptcy field; and (f) the costs of comparable services other than in a case under the Bankruptcy Code.

B. Actual and Necessary Expenses

- 20. Pursuant to Local Rule 2016-2(e), attached as <u>Exhibit B</u> are WBD's itemized records detailing expenses incurred on behalf of the Committee during the Application Period.
- 21. As more fully described in <u>Exhibit B</u>, WBD seeks reimbursement for the following categories of expenses: delivery fees, transportation, parking, meals, lodging and photocopies. All entries detailed in <u>Exhibit B</u> comply with the requirements set forth in Local Rule 2016-2(e), including an itemization of the expenses by category, the date the expense was incurred, and the individual incurring the expense, where available.
- 22. WBD charges \$0.10 per page for internal photocopying expenses. WBD does not charge for outgoing facsimile transmissions.³ The rates charged by WBD for Westlaw and Lexis computerized research vary according to the type of research conducted and the specific files researched, but, in any event, such charges are billed at cost, as set forth in Exhibit B, if applicable. As per the Guidelines, WBD has not requested reimbursement of expenses related to overhead charges, such as secretarial services and proofreading.
- 23. WBD has incurred \$8,028.12 in out-of-pocket expenses incurred as reasonable and necessary costs relating to serving as counsel to the Committee during the Application Period. These charges are intended to cover WBD's direct costs incurred in representing the Committee, which costs are not incorporated in any respect into WBD's hourly billing rates. The effect of including such expenses as part of the hourly billing rates would impose that cost upon clients who do not require extensive photocopying and other facilities and services. Only

6

³ To the extent WBD uses an outside vendor for volume faxing, WBD bills those charges at cost. WBD seeks competitive market rates for such outside vendor services.

clients who actually use services of the types set forth in <u>Exhibit B</u> are separately charged for such services. WBD has made every effort to minimize its expenses in this case. The actual expenses incurred in providing professional services were necessary, reasonable, and tailored to serve the needs of the Committee.

C. The Requested Compensation Should Be Allowed

- 24. The professional time expended by the firm, the value of said time in fees, and the value of the actual expenses incurred by the firm were actual, reasonable, and necessary. In all respects, the firm's fees and expenses meet the standards for allowance under Bankruptcy Code section 330, as well as the standards that govern the review and allowance of bankruptcy professionals' fees. *See, e.g., In re Busy Beaver Bldg. Ctrs., Inc.*, 19 F.3d 833 (3d Cir. 1994).
- 25. Bankruptcy Code section 331 provides for interim compensation of professionals and incorporates the substantive standards of Bankruptcy Code section 330 to govern the Court's award of such compensation. *See* 11 U.S.C. § 331. Bankruptcy Code section 330 provides that a court may award a professional employed under Bankruptcy Code section 1103 the "reasonable compensation for actual, necessary services rendered . . . and reimbursement for actual, necessary expenses." 11 U.S.C. § 330(a)(1)(A) (B). Bankruptcy Code section 330 also sets forth the criteria for the award of such compensation and reimbursement:

In determining the amount of reasonable compensation to be awarded . . . the court shall consider the nature, the extent, and the value of such services, taking into account all relevant factors, including –

- (A) the time spent on such services;
- (B) the rates charged for such services;
- (C) whether the services were necessary to the administration of, or beneficial at the time at which the service was rendered toward the completion of, a case under this title;

- (D) whether the services were performed within a reasonable amount of time commensurate with the complexity, importance, and nature of the problem, issue, or task addressed;
- (E) with respect to a professional person, whether the person is board certified or otherwise has demonstrated skill and experience in the bankruptcy field; and
- (F) whether the compensation is reasonable based on the customary compensation charged by comparably skilled practitioners in cases other than cases under this title.

11 U.S.C. § 330(a)(3).

- 26. The professional services performed by WBD were in the best interests of the Committee and other parties in interest. Compensation for the foregoing services as requested is commensurate with the complexity, importance, and time-sensitive nature of the problems, issues, or tasks involved. The professional services were performed with expedition and in an efficient manner.
- 27. Whenever possible, WBD sought to minimize the costs of its services to the Committee by assigning tasks as appropriate to junior attorneys and paraprofessionals whose rates are lower. WBD's delegation as such has resulted in a very desirable blended rate for its timekeepers in this engagement.
- 28. In sum, the services rendered by WBD were necessary and beneficial to the Committee, the Debtor's estate and were consistently performed in a timely manner commensurate with the complexity, importance, and nature of the issues involved. Accordingly, approval of the compensation for professional services and reimbursement of expenses sought herein is warranted.

RESPONSES TO FEE GUIDELINES QUESTIONNAIRE:

| Question | Response | Explanation |
|--|----------|---|
| Did you agree to any variations from, or alternatives to, your standard or customary billing rates, fees or terms for services pertaining to this engagement that were provided during the application period? If so, please explain. | No | N/A |
| If the fees sought in this fee application as compared to the fees budgeted for this time period covered by this fee application are higher by 10% or more, did you discuss the reasons for the variation with the client? | N/A | N/A |
| Have any of the professionals included in this fee application varied their hourly rate based on the geographic location of the bankruptcy case? | No | N/A |
| Does the fee application include time or fees related to reviewing or revising time records or preparing, reviewing, or revising invoices? | No | N/A |
| Does this fee application include time or fees for reviewing time records to redact any privileged or other confidential information? | No | N/A |
| If the fee application includes any rate increases since retention: i. Did your client review and approve those rate increases in advance? ii. Did your client agree when retaining the law firm to accept all future rate increases? If not, did you inform your client that they need not agree to modified rates or terms in order to have you continue the representation, consistent with ABA formal Ethics Opinion 11-458? | N/A | This fee application does not include any rate increases. |

RESERVATION OF RIGHTS

29. To the extent time or disbursement charges for services rendered or disbursements incurred relate to the Application Period but were not processed prior to the preparation of this Application, or WBD has for any other reason not sought compensation or reimbursement of expenses herein with respect to any services rendered or expenses incurred during the Application Period, WBD reserves the right to request additional compensation for such services and reimbursement of such expenses in a future application.

CERTIFICATE OF COMPLIANCE AND WAIVER

30. The undersigned representative of WBD certifies that the undersigned has reviewed the requirements of Local Rule 2016-2, and that the Application substantially complies with such Local Rule. To the extent that the Application does not comply in all respects with the requirements of Local Rule 2016-2, the undersigned believes that such deviations are not material. Accordingly, WBD respectfully requests that any such requirements be waived.

NOTICE

31. In accordance with the Interim Compensation Order, this Application and notice thereof will be served upon: (i) counsel for the Debtor, Sidley Austin LLP, 555 W. 5th Street, Los Angeles, California 90013, Attn: Julia Phillips Roth, Esq. (julia.roth@sidley.com) and Young Conaway Stargatt & Taylor, LLP, Rodney Square, 1000 North King Street, Wilmington, Delaware 19801, Attn: Allison S. Mielke (amielke@ycst.com), (ii) the Office of the United States Trustee for the District of Delaware, 844 King Street, Suite 2207, Wilmington, Delaware 19801, Attn: Timothy J. Fox, Jr.. (timothy.fox@usdoj.gov)).

CONCLUSION

WHEREFORE, WBD respectfully requests that it be granted (i) a monthly allowance of fees in the amount of \$355.141.00, and authority for an interim payment of compensation for professional services rendered herein as counsel to the Committee during the Application Period in the amount of \$284,112.80, which is eighty percent (80%) of the fees incurred; (ii) reimbursement of expenses in the amount of \$8,028.12; and (iii) such further relief as the Court may deem just and proper.

Dated: May 9, 2023

Wilmington, Delaware

WOMBLE BOND DICKINSON (US) LLP

/s/ Donald J. Detweiler

Donald J. Detweiler (DE Bar No. 3087) Todd A. Atkinson (DE Bar No. 4825) Elazar A. Kosman (DE Bar No. 7077) 1313 North Market Street, Suite 1200 Wilmington, Delaware 19801

Telephone: (302) 252-4320 Facsimile: (302) 252-4330

Email: don.detweiler@wbd-us.com Email: todd.atkinson@wbd-us.com Email: elazar.kosman@wbd-us.com

Counsel to the Official Committee of Unsecured Creditors

IN THE UNITED STATES BANKRUPTCY COURT FOR THE DISTRICT OF DELAWARE

| In re: TRICIDA, INC.,1 | Chapter 11 Case No. 23-10024 (JTD) |
|------------------------|--|
| Debtor. | Objection Deadline: May 30, 2023 at 4:00 p.m. (ET) |

NOTICE OF FIRST MONTHLY FEE APPLICATION OF WOMBLE BOND DICKINSON (US) LLP FOR COMPENSATION FOR SERVICES RENDERED AND REIMBURSEMENT OF EXPENSES AS COUNSEL FOR THE OFFICIAL COMMITTEE OF UNSECURED CREDITORS FOR THE PERIOD JANUARY 24, 2023 THROUGH FEBRUARY 28, 2023

PLEASE TAKE NOTICE that on May 9, 2023, Womble Bond Dickinson (US) LLP ("WBD"), counsel to the Official Committee of Unsecured Creditors (the "Committee") of Tricida, Inc. (the "Debtor"), filed the attached First Monthly Fee Application of Womble Bond Dickinson (US) LLP for Compensation for Services Rendered and Reimbursement of Expenses as Counsel for the Official Committee of Unsecured Creditors for the Period January 24, 2023 Through February 28, 2023 (the "Application") with the United States Bankruptcy Court for the District of Delaware, 824 North Market Street, Wilmington, Delaware 19801 (the "Court").

PLEASE TAKE FURTHER NOTICE that, pursuant to the Court's *Order Establishing*Procedures for Interim Compensation and Reimbursement of Expenses for Professionals

[Docket No. 152] (the "Interim Compensation Order"), objections, if any, to the Application must be filed with the Clerk of the United States Bankruptcy Court for the District of Delaware, 824 North Market Street, 3rd Floor, Wilmington, Delaware 19801, and be served upon:

.

¹ The Debtor in this chapter 11 case, together with the last four digits of the Debtor's federal tax identification number, is Tricida, Inc. (2526). The Debtor's service address is 7000 Shoreline Court, Suite 201, South San Francisco, CA 94080.

(i) counsel for the Debtor, Sidley Austin LLP, 555 W. 5th Street, Los Angeles, California 90013, Attn: Julia Phillips Roth, Esq. (julia.roth@sidley.com) and Young Conaway Stargatt & Taylor, LLP, Rodney Square, 1000 North King Street, Wilmington, Delaware 19801, Attn: Allison S. Mielke (amielke@ycst.com), (ii) the Office of the United States Trustee for the District of Delaware, 844 King Street, Suite 2207, Wilmington, Delaware 19801, Attn: Timothy J. Fox, Jr.. (timothy.fox@usdoj.gov)); and (iii) counsel for the Committee, Womble Bond Dickinson (US) LLP, 1313 North Market Street, Suite 1200, Wilmington, Delaware 19801, Attn: Donald J. Detweiler (don.detweiler@wbd-us.com) by no later than May 30, 2023 at 4:00 p.m. (prevailing Eastern Time) (the "Objection Deadline"). A hearing on the Application shall be held only in the event timely objections are filed.

PLEASE TAKE FURTHER NOTICE that pursuant to the Interim Compensation Order, in the absence of any objection or responsive papers to the Application, WBD is authorized to file a certificate of no objection with the Court, after which the Debtor is authorized to pay WBD an amount equal to eighty percent (80%) of the fees and one hundred percent (100%) of the expenses requested in the Application. If an objection to the Application is timely filed and served prior to the Objection Deadline, WBD is authorized to be paid eighty percent (80%) of the fees and one hundred percent (100%) of the expenses not subject to such objection.

[Remainder of Page Intentionally Left Blank]

Dated: May 9, 2023

Wilmington, Delaware

WOMBLE BOND DICKINSON (US) LLP

/s/ Donald J. Detweiler

Donald J. Detweiler (DE Bar No. 3087) Todd A. Atkinson (DE Bar No. 4825) Elazar A. Kosman (DE Bar No. 7077) 1313 North Market Street, Suite 1200

Wilmington, Delaware 19801 Telephone: (302) 252-4320 Facsimile: (302) 252-4330

Email: don.detweiler@wbd-us.com Email: todd.atkinson@wbd-us.com Email: elazar.kosman@wbd-us.com

Counsel to the Official Committee of Unsecured Creditors

Exhibit A

Detailed Time Entries



Womble Bond Dickinson (US) LLP 1313 North Market Street Suite 1200

Suite 1200 Wilmington, Delaware 19801

Tel: (302) 252-4320 Fax: (302) 252-4330

www.womblebonddickinson.com

March 1, 2023 Matter Number 117789.0001.1 Bill Number 4780888 STATEMENT FOR SERVICES RENDERED

7000 Shoreline Court, Ste. 201 South San Francisco, CA 94080

RE: Tricida, Inc.

FOR PROFESSIONAL SERVICES RENDERED THROUGH 02/28/2023
DISBURSEMENTS THROUGH 02/28/2023

\$355,141.00 \$8,028.12

CURRENT TOTAL ____

\$363,169.12

Tricida, Inc. Official Committee of Unsecured Creditors Tricida, Inc.

117789.0001.1/4780888

ITEMIZED SERVICES BILL

| Date: | Description: | Attorney: | Hours: | Rate: | Amount: | | |
|---|---|---------------------------------|-----------|--------|--------------|--|--|
| BKAA - Asset Analysis/Estate Property Due Diligence | | | | | | | |
| 01/26/2023 | Review case docket regarding estate property, assets and Intellectual Property | Detweiler, Donald J. (10135) | 0.80 | 785.00 | \$ 628.00 | | |
| 01/26/2023 | Review Debtor's SEC filings regarding assets and liabilities | Detweiler, Donald J. (10135) | 1.20 | 785.00 | \$ 942.00 | | |
| 01/30/2023 | Asset analysis and information that can be gleaned from Debtor's SEC filings for potential sale of assets | Detweiler, Donald J. (10135) | 0.70 | 785.00 | \$ 549.50 | | |
| 02/12/2023 | Confer with Don Detweiler and review the Debtor's Chapter 11 Petition and First Day Pleadings regarding IP assessment (.6); review public information about the patent portfolio(2.6) | Perumal, Karthika (2685) | 3.20 | 825.00 | \$ 2,640.00 | | |
| 02/13/2023 | Communicate with Mr. Detweiler regarding IP assessment (.1); review correspondence from Ms. Perumal regarding same (.1) | Atkinson, Todd A. (530) | 0.20 | 525.00 | \$ 105.00 | | |
| 02/14/2023 | Research the patent portfolio and the clinical/safety data in the Data Site (4.7); confer with Don Detweiler and Todd Atkinson (1.1); prepare for and participate in phone calls with Debtor's counsel, Rock Creek Advisors, and WBD team (1.2); analyze public filings on patent portfolio (1.5) | Perumal, Karthika (2685) | 8.50 | 825.00 | \$ 7,012.50 | | |
| 02/15/2023 | Continue analysis of the claims of the US patents in the IP portfolio and the clinical/safety data in the Data Site (3.1); confer with Don Detweiler and Todd Atkinson (.4); research purchasers of distressed pharmaceutical assets (2.1); review the APAs from Patheon and Renibus (3.6) | Perumal, Karthika (2685) | 9.20 | 825.00 | \$ 7,590.00 | | |
| | | | Total for | Task: | \$ 19,467.00 | | |
| BKAD - Asset | Disposition - General | | | | | | |
| 01/24/2023 | Review and analysis of Bidding Procedures Motion and Order (.6); outline issues with Procedures and Order (.3) | Detweiler, Donald J. (10135) | 0.90 | 785.00 | \$ 706.50 | | |
| 01/24/2023 | Communicate with Mr. Detweiler regarding case, including bidding procedures and related hearing | Atkinson, Todd A. (530) | 0.30 | 525.00 | \$ 157.50 | | |
| 01/25/2023 | Conference Call with Miller Buckfire, Investment Banker and Debtor's counsel regarding proposed sale of assets | Detweiler, Donald J. (10135) | 0.70 | 785.00 | \$ 549.50 | | |
| 01/25/2023 | Call from A. Rohan at Miller Buckfire, regarding proposed sale of assets | Detweiler, Donald J. (10135) | 0.20 | 785.00 | \$ 157.00 | | |

| Tricida, Inc Tricida, Inc | c. Official Committee of Unsecured Creditors | | | 117789.000 | 1.1/4780888 |
|------------------------------|---|---------------------------------|------|------------|-------------|
| 01/25/2023 | Review Bidding Procedures Motion and Bidding Procedure Order | Detweiler, Donald J. (10135) | 1.10 | 785.00 | \$ 863.50 |
| 01/25/2023 | Conference call T. Atkinson regarding Bidding Procedures and Sale Issues | Detweiler, Donald J. (10135) | 0.30 | 785.00 | \$ 235.50 |
| 01/25/2023 | Conference call noteholders' counsel and Indenture Trustee counsel regarding case issues and proposed sale process | Detweiler, Donald J. (10135) | 0.40 | 785.00 | \$ 314.00 |
| 01/25/2023 | Review and analyze bidding procedures and sale papers (.8); draft proposed changes to order approving bid procedures and related papers (.6); communicate with Mr. Detweiler regarding same (.1); prepare for and attend teleconference with Mr. Klein, counsel to Noteholders, and Mr. Detweiler (.5); review and consider Miller Buckfire sale deck (.2); communicate with Mr. Detweiler regarding same (.1); prepare for and attend teleconference with Miller Buckfire team, Debtor's counsel and Mr. Detweiler (.9) | Atkinson, Todd A. (530) | 3.20 | 525.00 | \$ 1,680.00 |
| 01/26/2023 | Conference call with noteholders' counsel and FTI Consulting : budget and sale process | Detweiler, Donald J. (10135) | 0.50 | 785.00 | \$ 392.50 |
| 01/26/2023 | Revise Bidding Procedures Order and send to counsel | Detweiler, Donald J. (10135) | 0.50 | 785.00 | \$ 392.50 |
| 01/26/2023 | Multiple emails Committee regarding bidding procedures order | Detweiler, Donald J. (10135) | 0.40 | 785.00 | \$ 314.00 |
| 01/26/2023 | Review proposed final bidding procedures order and resolution of issues with Debtor | Detweiler, Donald J. (10135) | 0.40 | 785.00 | \$ 314.00 |
| 01/26/2023 | Review and analyze bidding procedures (.6); prepare for and attend teleconference with FTI (.8); review draft bidding procedures order and related correspondences from Committee and Mr. Detweiler (.4); draft changes to bidding procedures order regarding same (.2); finalize proposed revised draft bidding procedures (.3); communicate with Debtor's counsel regarding same (.2); review additional proposed changes to bidding procedures order (.2); communicate with Mr. Detweiler regarding same (.1); communicate with Committee regarding finalizing bid procedures and related correction (.1); communicate with Ms. Roth regarding correction to bid procedures order (.1) | Atkinson, Todd A. (530) | 3.00 | 525.00 | \$ 1,575.00 |
| 01/29/2023 | Review and analysis of sale issues and sale info received to date | Detweiler, Donald J. (10135) | 0.80 | 785.00 | \$ 628.00 |
| 01/31/2023 | Review and analysis of information relating to proposed sale and bids for assets | Detweiler, Donald J. (10135) | 1.20 | 785.00 | \$ 942.00 |
| 02/01/2023 | Prepare for and attend Miller Buckfire weekly | Atkinson, Todd A. | 0.60 | 525.00 | \$ 315.00 |

Tricida, Inc. Official Committee of Unsecured Creditors Tricida, Inc.

117789.0001.1/4780888

| | sale status call (.5); discuss same with Mr. Detweiler (.1) | (530) | | | |
|------------|---|---------------------------------|------|--------|-------------|
| 02/02/2023 | Review draft order approving sale and draft asset purchase agreement and related correspondence from Ms. Roth (.3); review notice regarding potential assumption and assignment of contracts and related aspects (.1) | Atkinson, Todd A. (530) | 0.40 | 525.00 | \$ 210.00 |
| 02/03/2023 | Review of information relating to proposed sale and asset disposition strategies | Detweiler, Donald J. (10135) | 0.80 | 785.00 | \$ 628.00 |
| 02/06/2023 | Work on sale and auction issues | Detweiler, Donald J. (10135) | 1.50 | 785.00 | \$ 1,177.50 |
| 02/07/2023 | Review and analyze sale and auction issues | Detweiler, Donald J. (10135) | 1.50 | 785.00 | \$ 1,177.50 |
| 02/07/2023 | Review and consider Debtor's motion to abandon property | Atkinson, Todd A. (530) | 0.20 | 525.00 | \$ 105.00 |
| 02/07/2023 | Review and consider correspondence from Committee regarding sale and stalking horse bids (.1); communicate with Mr. Gansman and, separately, Mr. Detweiler regarding same (.1) | Atkinson, Todd A. (530) | 0.20 | 525.00 | \$ 105.00 |
| 02/08/2023 | Review of sale information and calls with Rock Creek team regarding sale process and update | Detweiler, Donald J. (10135) | 0.80 | 785.00 | \$ 628.00 |
| 02/08/2023 | Attend weekly FTI / Miller Buckfire call regarding sale and bid update | Atkinson, Todd A. (530) | 0.30 | 525.00 | \$ 157.50 |
| 02/09/2023 | Telephone call US Trustee regarding Patheon interest in potential bidding on assets | Detweiler, Donald J. (10135) | 0.30 | 785.00 | \$ 235.50 |
| 02/09/2023 | Telephone call Debtor's counsel S. Beach regarding Patheon interest in potential bidding on assets | Detweiler, Donald J. (10135) | 0.20 | 785.00 | \$ 157.00 |
| 02/10/2023 | Multiple emails, telephone calls regarding bids received for assets | Detweiler, Donald J. (10135) | 0.50 | 785.00 | \$ 392.50 |
| 02/10/2023 | Conference call Debtor's counsel, investment banker and Committee professionals regarding bids received for sale and next steps | Detweiler, Donald J. (10135) | 1.00 | 785.00 | \$ 785.00 |
| 02/10/2023 | Conference WBD - asset disposition issues and potential maintaining of assets | Detweiler, Donald J. (10135) | 0.40 | 785.00 | \$ 314.00 |
| 02/10/2023 | Prepare for and attend call with Debtor's professionals regarding bids received and related issues (1.2); discuss same with Mr. Detweiler (.2); review and consider contract rejection motion relative to bids (.1) | Atkinson, Todd A. (530) | 1.50 | 525.00 | \$ 787.50 |
| 02/13/2023 | Telephone call noteholder's counsel upcoming auction and noteholder potential interest in bidding on assets | Detweiler, Donald J. (10135) | 0.40 | 785.00 | \$ 314.00 |

117789.0001.1/4780888

Tricida, Inc. Official Committee of Unsecured Creditors

Tricida, Inc. 02/13/2023 0.20 Email to Committee regarding call with Detweiler, Donald 785.00 \$ 157.00 noteholder counsel J. (10135) 02/13/2023 Multiple telephone calls T. Atkinson and Detweiler, Donald 0.40 785.00 \$ 314.00 upcoming auction and sale issues J. (10135) 02/13/2023 Review correspondences from Mr. Rohan and Atkinson, Todd A. 1.80 525.00 \$ 945.00 Mr. Gansman regarding potential bid parties (.1); (530)prepare for and attend teleconference with Debtor, Debtor's counsel, FTI and others regarding sale update and IP issues (.8); discuss same with Ms. Perumal (.1); draft outline of sale issues and convey same to Mr. Detweiler (.4); phone call with Mr. Gansman regarding bidding (.2); review sale diligence information and related correspondence from Ms. Miller (.2) 02/14/2023 Review bids and email to working team Detweiler, Donald 0.30 785.00 \$ 235.50 regarding discussion on bids and Committee J. (10135) recommendation on auction Conference call with Committee advisors 02/14/2023 Detweiler, Donald 1.00 785.00 \$ 785.00 regarding bid and sale issues J. (10135) 02/14/2023 Telephone call Debtor's counsel regarding Detweiler, Donald 0.30 785.00 \$ 235.50 auction J. (10135) 02/14/2023 Telephone call noteholder's counsel regarding Detweiler, Donald 0.30 785.00 \$ 235.50 auction J. (10135) Detweiler, Donald 02/14/2023 0.70 785.00 Telephone call with Committee regarding auction \$ 549.50 J. (10135) 02/14/2023 Email Committee sale update Detweiler, Donald 0.20 785.00 \$ 157.00 J. (10135) 02/14/2023 Multiple emails and telephone calls K. Perumal Detweiler, Donald 0.50 785.00 \$ 392.50 regarding intellectual property valuation and J. (10135) maintenance issues 02/14/2023 Prepare information for auction Detweiler, Donald 0.80 785.00 \$ 628.00 J. (10135) 02/14/2023 Multiple emails patent team and Rock Creek Detweiler, Donald 0.30 785.00 \$ 235.50 regarding info needed from the Debtor J. (10135) 02/14/2023 0.30 Multiple emails and telephone call K. Perumal Detweiler, Donald 785.00 \$ 235.50 regarding maintenance of IP and info in due J. (10135) diligence room 02/14/2023 Call with K. Perumal regarding investigation of Detweiler, Donald 1.10 785.00 \$863.50 maintaining Debtor's intellectual property and J. (10135) sale/auction issues Prepare for and attend teleconference with Mr. 02/14/2023 Atkinson, Todd A. 2.80 525.00 \$ 1.470.00 Detweiler, Ms. Perumal, Mr. Gansman and Mr. (530)Ayers regarding emergent bidding, sale and auction issues (.8); review and analyze bid, data

Tricida, Inc. Official Committee of Unsecured Creditors Tricida, Inc.

117789.0001.1/4780888

| | room and company information regarding sale and auction (1.3); review and consider Patheon claim issues (.3); communicate with Ms. Miller regarding Patheon claim (.1); research and analyze IP related aspects relative to sale (.3) | | | | |
|------------|--|---------------------------------|------|--------|-------------|
| 02/14/2023 | Participate in meeting concerning auction, bids and sale | Kosman, Elazar A. (10329) | 0.80 | 340.00 | \$ 272.00 |
| 02/14/2023 | Discuss objection to sale with D. Detweiler | Kosman, Elazar A. (10329) | 0.30 | 340.00 | \$ 102.00 |
| 02/14/2023 | Participate in meetings concerning sale of intellectual property assets | Kosman, Elazar A. (10329) | 0.70 | 340.00 | \$ 238.00 |
| 02/15/2023 | Prepare for, attend and participate in auction | Detweiler, Donald J. (10135) | 6.50 | 785.00 | \$ 5,102.50 |
| 02/15/2023 | Prepare for and attend sale auction and related all day conferences | Atkinson, Todd A. (530) | 6.50 | 525.00 | \$ 3,412.50 |
| 02/16/2023 | Teleconferences with J. Lehnert at Keating regarding auction status (.5); teleconference with J. Gansman regarding same (.4); teleconference with D. Detweiler regarding estate assets (.1) | Ward, Matthew P. (2176) | 1.00 | 785.00 | \$ 785.00 |
| 02/16/2023 | Review and revise potential objections to sale; confer with Elazar Kosman regarding Tricida's corporate structure (.3); research ownership of the Tricida patents and patent applications in foreign jurisdictions (2.4); analyze the proposal for milestone payments from Renibus for acquisition of the Tricida IP (.8) | Perumal, Karthika (2685) | 4.40 | 825.00 | \$ 3,630.00 |
| 02/16/2023 | Attend auction and assert Committee objections to proposed sale of assets | Detweiler, Donald J. (10135) | 4.50 | 785.00 | \$ 3,532.50 |
| 02/16/2023 | Review draft APA circulated by Renibus and Patheon | Detweiler, Donald J. (10135) | 1.50 | 785.00 | \$ 1,177.50 |
| 02/16/2023 | Prepare objection to sale | Kosman, Elazar A. (10329) | 6.70 | 340.00 | \$ 2,278.00 |
| 02/16/2023 | Prepare for and attend sale auction and related all day conferences (4.5); review and consider draft Patheon and Renibus APAs and related documents (.8); teleconference with Mr. Detweiler, Mr. Gansman and Mr. Ayers regarding Renibus proposed bid supplement (.3); review and consider Renibus upside proposal regarding same (.2) | Atkinson, Todd A. (530) | 5.60 | 525.00 | \$ 2,940.00 |
| 02/17/2023 | Teleconference with D. Detweiler and J. Gansman regarding bids and sale strategy | Ward, Matthew P. (2176) | 0.10 | 785.00 | \$ 78.50 |
| 02/17/2023 | Continue review of potential objections to sale (.8); confer with Don Detweiler (.3); review the draft Asset Purchase Agreements from Patheon | Perumal, Karthika (2685) | 2.50 | 825.00 | \$ 2,062.50 |

| Tricida, Inc. Official Committee of Unsecured Creditors Tricida, Inc. | | | | 117789.000 | 1.1/4780888 |
|---|--|---------------------------------|-------|------------|--------------|
| | and Renibus and IP Maintenance estimates from Debtor (1.4) | | | | |
| 02/17/2023 | Begin drafting of objection to auction and section 363 sale | Detweiler, Donald J. (10135) | 5.10 | 785.00 | \$ 4,003.50 |
| 02/17/2023 | Review sale procedures and auction transcripts and bids received by the Debtor (1.2); research sales issues (2.0); continue drafting of objection to sale (3.1) | Detweiler, Donald J. (10135) | 6.30 | 785.00 | \$ 4,945.50 |
| 02/17/2023 | Research case law pertaining to objection to sale (3.5); research 363(m) cases (2.0); research violation of bidding procedures cases (1.5) | Kosman, Elazar A. (10329) | 7.00 | 340.00 | \$ 2,380.00 |
| 02/17/2023 | Discuss objection to sale | Kosman, Elazar A. (10329) | 0.50 | 340.00 | \$ 170.00 |
| 02/17/2023 | Edit and revise draft sale objection (1.2); researched and analyzed issues regarding same (.6); discuss sale objection issues with Mr. Detweiler (.3) | Atkinson, Todd A. (530) | 2.30 | 525.00 | \$ 1,207.50 |
| 02/18/2023 | Teleconference with J. Gansman and D. Detweiler regarding bids and strategy | Ward, Matthew P. (2176) | 0.20 | 785.00 | \$ 157.00 |
| 02/19/2023 | Research into Renibus regarding their management team and their experience in chronic kidney disease drugs (1.3); prepare and participate in phone call with the Renibus team (1.1); participate in follow-up call with the WBD and the Rock Creek team to discuss the diligence and commercialization plans (.6); continue further research regarding Renibus and the capability to bring the Tricida portfolio to commercialization (1.5) | Perumal, Karthika (2685) | 4.50 | 825.00 | \$ 3,712.50 |
| 02/19/2023 | Conference call with Renibus team regarding Renibus APA, proposed bid, proposed use of assets, and milestones | Detweiler, Donald J. (10135) | 1.00 | 785.00 | \$ 785.00 |
| 02/19/2023 | Multiple emails regarding status of Renibus APA and auction rescheduled for Monday, February 20th. | Detweiler, Donald J. (10135) | 0.30 | 785.00 | \$ 235.50 |
| 02/19/2023 | Review and consider Lead Class Action plaintiffs sale objection | Atkinson, Todd A. (530) | 0.10 | 525.00 | \$ 52.50 |
| 02/20/2023 | Review draft of the Asset Purchase Agreement from Renibus Therapeutics (3.8); confer with Don Detweiler and Todd Atkinson regarding proposed revisions to the IP provisions (1.2); expand on the milestone events and payments to align with industry standards (2.3); discuss with WBD and Rock Creek team regarding the milestones (1.0); participate in call with the US Bank representative and revise the Asset Purchase Agreement accordingly (1.2); | Perumal, Karthika (2685) | 12.60 | 825.00 | \$ 10,395.00 |

117789.0001.1/4780888

Tricida, Inc. Official Committee of Unsecured Creditors

Tricida, Inc. participate in the Post-Auction/Sale Hearing call with the WBD and Rock Creek team and further revise the Asset Purchase Agreement accordingly (1.6); analyze the revised Asset Purchase Agreement from Renibus (1.5) 02/20/2023 Attend continued auction Detweiler, Donald 1.00 785.00 \$ 785.00 J. (10135) Detweiler, Donald 02/20/2023 Multiple emails and telephone calls internal team 1.20 785.00 \$ 942.00 and Rock Creek regarding Bids received by the J. (10135) Debtor and the Debtor's acceptance of Renibus bid 02/20/2023 3.00 Multiple emails and telephone calls internal team Detweiler, Donald 785.00 \$ 2,355.00 regarding changes needed to Renibus bid and J. (10135) sale of IP and future contingent payment rights (1.6); multiple emails and conversations with Debtor's counsel regarding sale and sale process (1.4) 02/20/2023 Review and analysis of sale and auction issues Detweiler, Donald 1.50 785.00 \$ 1,177.50 including revised Renibus bid J. (10135) 02/20/2023 Review and analyze proposed draft Renibus Atkinson, Todd A. 6.40 525.00 \$ 3,360.00 APA (.7); research and analyze issues regarding (530)same, including preference exposure related to designated parties (.4); phone call with Mr. Detweiler regarding emergent sale issues involving Renibus APA (.3); review and consider multiple Debtor's, Womble's and Noteholders' counsel correspondences regarding Renibus APA (.4); prepare for and attend Auction, day 3 (.2); review sale documents, including various revisions to Renibus APA, Noteholders' bid, Noteholders' joinder and multiple correspondence from sale related parties (.8); discuss same with Mr. Detweiler (.2); phone call with Committee members regarding same (.2); review Noteholders' proposed changes to Renibus APA (.3); communicate with Mr. Detweiler regarding same (.2); review multiple versions of APA and related correspondences (.6); discuss changes to APA with Mr. Detweiler (.2); draft proposed changes to APA (.8); communicate with WBD and Rock Creek teams regarding same (.1); attend auction (.2); attend conference with WBD and Rock Creek teams regarding auction and sale hearing (.5); research and analyze issues regarding same regarding change of control (.2); phone call with Ms. Perumal regarding changes to APA (.1) 02/21/2023 Review objections to proposed sale (.6); analyze Perumal, Karthika 1.70 825.00 \$ 1,402.50 the proposed final form of the APA with Renibus (2685)(.5); provide comments to Don Detweiler

| Tricida, Inc. Official Committee of Unsecured Creditors Tricida, Inc. | | | | 117789.000 ⁻ | 01.1/4780888 | |
|---|--|---------------------------------|------|-------------------------|--------------|--|
| | regarding handling of milestones in the APA (.6) | | | | | |
| 02/21/2023 | Attend sale hearing and issues with Renibus Bid | Detweiler, Donald J. (10135) | 2.00 | 785.00 | \$ 1,570.00 | |
| 02/21/2023 | Legal research on violations of bid and good faith procedures | Kosman, Elazar A. (10329) | 2.20 | 340.00 | \$ 748.00 | |
| 02/21/2023 | Review and consider multiple correspondences and APAs relative to sale (1.3); discuss same with Mr. Detweiler (.3); review and consider Debtor's reply in support of sale (.4); research and analyze issues regarding same (.4); draft argument in advance of hearing in response to reply (.3); communicate with Mr. Detweiler regarding same (.1); review and draft proposed changes to APA (.5); review revised APA and related correspondences (.4); discuss same in advance of hearing with Mr. Detweiler (.1); edit and revise draft W/E list (.1); review proposed sale order and final APA filed in advance of hearing (.5); communicate with Mr. Detweiler with comments regarding same (.2); communicate with Mr. Solimine regarding sale hearing (.1) | Atkinson, Todd A. (530) | 4.70 | 525.00 | \$ 2,467.50 | |
| 02/22/2023 | Teleconference with J. Gansman regarding sale result and next steps | Ward, Matthew P. (2176) | 0.10 | 785.00 | \$ 78.50 | |
| 02/22/2023 | Confer with Don Detweiler regarding the limited revisions to milestones in the final form of the APA with Renibus (.4); prepare redline versions to reflect the amendments (.6) | Perumal, Karthika (2685) | 1.00 | 825.00 | \$ 825.00 | |
| 02/22/2023 | Multiple emails regarding sale orders and reviewing finalizing and approving sale orders | Detweiler, Donald J. (10135) | 1.80 | 785.00 | \$ 1,413.00 | |
| 02/22/2023 | Emails regarding proposed changes to APA and need to protect interests in IP and contingent right payments | Detweiler, Donald J. (10135) | 1.50 | 785.00 | \$ 1,177.50 | |
| 02/22/2023 | Review and consider multiple sale related papers and correspondences, including final sale orders | Atkinson, Todd A. (530) | 0.30 | 525.00 | \$ 157.50 | |
| 02/22/2023 | Review and consider proposed changes to order approving abandonment motion and related correspondence from Ms. Miller (.1); communicate with Mr. Detweiler regarding same (.1) | Atkinson, Todd A. (530) | 0.20 | 525.00 | \$ 105.00 | |
| 02/23/2023 | Multiple emails regarding revised sale orders and open sale issues | Detweiler, Donald J. (10135) | 0.60 | 785.00 | \$ 471.00 | |
| 02/25/2023 | Telephone call Debtors' counsel regarding Renibus Bid and status of sale | Detweiler, Donald J. (10135) | 0.30 | 785.00 | \$ 235.50 | |

| Tricida, Inc Tricida, Inc | . Official Committee of Unsecured Creditors | | | 117789.000 | 1.1/4780888 |
|------------------------------|---|---------------------------------|-----------|------------|--------------|
| 02/25/2023 | Telephone call Committee professionals regarding Renibus Bid and status of sale | Detweiler, Donald J. (10135) | 0.30 | 785.00 | \$ 235.50 |
| 02/25/2023 | Review and analysis of latest draft of Renibus APA and info needed to be removed from APA | Detweiler, Donald J. (10135) | 1.00 | 785.00 | \$ 785.00 |
| 02/28/2023 | Review correspondence from Mr. Mendy concerning Debtor's assets and communicate with Mr. Gansman regarding same | Atkinson, Todd A. (530) | 0.10 | 525.00 | \$ 52.50 |
| | | | Total for | Task: | \$ 98,148.00 |
| BKAV - Advers | sary | | | | |
| 01/26/2023 | Draft initial case information requests directed to Debtor | Kosman, Elazar A. (10329) | 1.00 | 340.00 | \$ 340.00 |
| 01/26/2023 | Research SEC documents for information on Debtor's retention of professionals | Kosman, Elazar A. (10329) | 0.40 | 340.00 | \$ 136.00 |
| 01/31/2023 | Research law in preparation for objection to professional retention | Kosman, Elazar A. (10329) | 3.90 | 340.00 | \$ 1,326.00 |
| 02/01/2023 | Research write memo on claims issues (3.2); continued research and drafting of claims memo (2.8) | Kosman, Elazar A. (10329) | 6.00 | 340.00 | \$ 2,040.00 |
| 02/02/2023 | Draft memo on fraudulent and preferential transfers applicable in case (1.5); research and review professional claims (1.8) | Kosman, Elazar A. (10329) | 3.30 | 340.00 | \$ 1,122.00 |
| | | | Total for | Task: | \$ 4,964.00 |
| BKB - Investig | ation of Claims | | | | |
| 01/26/2023 | Review and revise draft initial request for documents information directed to Debtor; circulate to Committee and internal team for review and comment | Detweiler, Donald J. (10135) | 1.00 | 785.00 | \$ 785.00 |
| 01/27/2023 | Continue drafting of initial request for documents information directed to Debtor; circulate to Committee and internal team for review and comment | Detweiler, Donald J. (10135) | 1.50 | 785.00 | \$ 1,177.50 |
| 01/27/2023 | Investigation of potential claims and causes of action; discussion with T. Atkinson regarding estate claims and causes of action | Detweiler, Donald J. (10135) | 1.90 | 785.00 | \$ 1,491.50 |
| 01/30/2023 | Investigation of estate claims and causes of action | Detweiler, Donald J. (10135) | 1.20 | 785.00 | \$ 942.00 |
| 01/31/2023 | Review and analysis of information requests sent by debtors | Detweiler, Donald J. (10135) | 0.30 | 785.00 | \$ 235.50 |
| 02/03/2023 | Continue investigation of estate claims and causes of action | Detweiler, Donald J. (10135) | 0.70 | 785.00 | \$ 549.50 |
| 02/10/2023 | Conference with WBD D&O and SEC | Detweiler, Donald | 0.30 | 785.00 | \$ 235.50 |

Tricida, Inc. Official Committee of Unsecured Creditors Tricida, Inc.

117789.0001.1/4780888

| | investigation team, regarding potential investigation of claims against the Debtor's directors and officers | J. (10135) | | | |
|------------|---|----------------------------------|------|--------|-------------|
| 02/10/2023 | Pull SEC.gov info and send to working team | Detweiler, Donald J. (10135) | 0.40 | 785.00 | \$ 314.00 |
| 02/13/2023 | Call with investigation team regarding estate claims an causes of action | Detweiler, Donald J. (10135) | 1.60 | 785.00 | \$ 1,256.00 |
| 02/13/2023 | Review and organize information for claims investigation and send to investigation team | Detweiler, Donald J. (10135) | 0.50 | 785.00 | \$ 392.50 |
| 02/13/2023 | Call with investigation team estate claims and causes of action and pending litigation | Detweiler, Donald J. (10135) | 1.00 | 785.00 | \$ 785.00 |
| 02/13/2023 | Review insurance information (.8); analyze first day pleadings (1.8); analyze proposed plan (1.1); conference with co-counsel regarding initiation of investigation; review initial documents (1.4) | Ambler, Jr., Robert R. (1682) | 5.10 | 940.00 | \$ 4,794.00 |
| 02/13/2023 | Read Lawrence Perkins declaration (.7); conference call with D. Detweiler and B. Ambler (1.1) | DeHart, Michael R. (10094) | 1.80 | 655.00 | \$ 1,179.00 |
| 02/13/2023 | Review and consider diligence requests relative to claims investigation (.1); discuss same with Mr. Detweiler (.1); attend teleconference with Mr. Ambler, Mr. DeHart and Mr. Detweiler regarding claims investigation (.3) | Atkinson, Todd A. (530) | 0.50 | 525.00 | \$ 262.50 |
| 02/13/2023 | Obtain corporate filings from SEC | Hall, Heather K.* (7657) | 1.30 | 310.00 | \$ 403.00 |
| 02/14/2023 | Multiple emails and telephone calls R. DeHart and B. Ambler regarding investigation of director, officer and company claims | Detweiler, Donald J. (10135) | 0.50 | 785.00 | \$ 392.50 |
| 02/14/2023 | Review documents (1.7); research stock trades (1.6) | Ambler, Jr., Robert R. (1682) | 3.30 | 940.00 | \$ 3,102.00 |
| 02/14/2023 | Follow up call with Bob Ambler regarding action plan | DeHart, Michael R. (10094) | 0.40 | 655.00 | \$ 262.00 |
| 02/14/2023 | Create team workspace and upload documents | Hall, Heather K.* (7657) | 0.50 | 310.00 | \$ 155.00 |
| 02/15/2023 | Analyze insurance policies (1.4); analyze securities litigation against Tricida (1.4); legal research regarding third party releases (.8) | Ambler, Jr., Robert R. (1682) | 3.60 | 940.00 | \$ 3,384.00 |
| 02/15/2023 | Email to Ambler and Hickman regarding Third Circuit case law | DeHart, Michael R. (10094) | 0.10 | 655.00 | \$ 65.50 |
| 02/16/2023 | Review Tricida derivative litigation (1.6); conduct factual investigation regarding knowledge of Phase III trial failure (2.3); review Medpace litigation (.8) | Ambler, Jr., Robert R. (1682) | 4.70 | 940.00 | \$ 4,418.00 |

| Tricida, Inc Tricida, Inc | c. Official Committee of Unsecured Creditors | | | 117789.000 | 1.1/4780888 |
|--|--|---|--|--|---|
| 02/17/2023 | Review class action complaint | Ambler, Jr., Robert R. (1682) | 0.50 | 940.00 | \$ 470.00 |
| 02/21/2023 | Continue review and analysis of D&O Claims investigation | Detweiler, Donald J. (10135) | 1.20 | 785.00 | \$ 942.00 |
| 02/22/2023 | Continue review and analysis of D&O investigation | Detweiler, Donald J. (10135) | 1.20 | 785.00 | \$ 942.00 |
| 02/24/2023 | Review potential claims and causes of action against directors and officers and impact of releases under the Plan | Detweiler, Donald J. (10135) | 0.60 | 785.00 | \$ 471.00 |
| 02/27/2023 | Review insurance documents (2.5); review stock trading issues (1.6); review NOL issues (2.7) | Ambler, Jr., Robert R. (1682) | 6.80 | 940.00 | \$ 6,392.00 |
| 02/28/2023 | Confer with co-counsel regarding next steps in investigation (1.1); research inside trading details (1.5) | Ambler, Jr., Robert R. (1682) | 2.60 | 940.00 | \$ 2,444.00 |
| 02/28/2023 | Review materials available and create list of current Tricida officers and director to whom request for documents should be addressed | Hickman, Matthew L. (10313) | 0.50 | 370.00 | \$ 185.00 |
| 02/28/2023 | Review and consider Debtor data room information, including board minutes (.6); communicate with Ms. Miller regarding data | Atkinson, Todd A. (530) | 0.70 | 525.00 | \$ 367.50 |
| | room access (.1) | | | | |
| | room access (.1) | | Total for | Task: | \$ 38,795.00 |
| BKBD - Bar D | , , | | Total for | Task: | \$ 38,795.00 |
| BKBD - Bar Da 01/25/2023 | , , | Detweiler, Donald J. (10135) | Total for 0.20 | Task: 785.00 | \$ 38,795.00 \$ 157.00 |
| - | ate Multiple emails to and from Committee regarding | | | | |
| 01/25/2023 | Multiple emails to and from Committee regarding bar date and recommended new bar date Review bar date motion and proposed bar date | J. (10135) Detweiler, Donald | 0.20 | 785.00 | \$ 157.00 |
| 01/25/2023 | Multiple emails to and from Committee regarding bar date and recommended new bar date Review bar date motion and proposed bar date order Multiple emails to Committee regarding bar date | J. (10135) Detweiler, Donald J. (10135) Detweiler, Donald | 0.20 0.40 | 785.00 785.00 | \$ 157.00 \$ 314.00 |
| 01/25/2023 01/25/2023 01/25/2023 | Multiple emails to and from Committee regarding bar date and recommended new bar date Review bar date motion and proposed bar date order Multiple emails to Committee regarding bar date order and extension of bar date | J. (10135) Detweiler, Donald J. (10135) Detweiler, Donald J. (10135) Detweiler, Donald | 0.20 0.40 0.30 | 785.00 785.00 785.00 | \$ 157.00 \$ 314.00 \$ 235.50 |
| 01/25/2023 01/25/2023 01/25/2023 01/26/2023 | Multiple emails to and from Committee regarding bar date and recommended new bar date Review bar date motion and proposed bar date order Multiple emails to Committee regarding bar date order and extension of bar date Multiple emails Debtor's regarding bar date | J. (10135) Detweiler, Donald J. (10135) Detweiler, Donald J. (10135) Detweiler, Donald J. (10135) Detweiler, Donald | 0.20 0.40 0.30 0.30 | 785.00 785.00 785.00 785.00 | \$ 157.00 \$ 314.00 \$ 235.50 \$ 235.50 |
| 01/25/2023 01/25/2023 01/25/2023 01/26/2023 01/30/2023 | Multiple emails to and from Committee regarding bar date and recommended new bar date Review bar date motion and proposed bar date order Multiple emails to Committee regarding bar date order and extension of bar date Multiple emails Debtor's regarding bar date Review bar date information for creditor Review and consider bar date order and bar date | J. (10135) Detweiler, Donald J. (10135) Detweiler, Donald J. (10135) Detweiler, Donald J. (10135) Detweiler, Donald J. (10135) Atkinson, Todd A. | 0.20 0.40 0.30 0.30 0.10 | 785.00 785.00 785.00 785.00 785.00 | \$ 157.00 \$ 314.00 \$ 235.50 \$ 235.50 \$ 78.50 |
| 01/25/2023 01/25/2023 01/25/2023 01/26/2023 01/30/2023 02/02/2023 | Multiple emails to and from Committee regarding bar date and recommended new bar date Review bar date motion and proposed bar date order Multiple emails to Committee regarding bar date order and extension of bar date Multiple emails Debtor's regarding bar date Review bar date information for creditor Review and consider bar date order and bar date | J. (10135) Detweiler, Donald J. (10135) Detweiler, Donald J. (10135) Detweiler, Donald J. (10135) Detweiler, Donald J. (10135) Atkinson, Todd A. | 0.20 0.40 0.30 0.30 0.10 | 785.00 785.00 785.00 785.00 785.00 | \$ 157.00 \$ 314.00 \$ 235.50 \$ 235.50 \$ 78.50 \$ 52.50 |
| 01/25/2023 01/25/2023 01/25/2023 01/26/2023 01/30/2023 02/02/2023 | Multiple emails to and from Committee regarding bar date and recommended new bar date Review bar date motion and proposed bar date order Multiple emails to Committee regarding bar date order and extension of bar date Multiple emails Debtor's regarding bar date Review bar date information for creditor Review and consider bar date order and bar date notice | J. (10135) Detweiler, Donald J. (10135) Detweiler, Donald J. (10135) Detweiler, Donald J. (10135) Detweiler, Donald J. (10135) Atkinson, Todd A. | 0.20 0.40 0.30 0.30 0.10 | 785.00 785.00 785.00 785.00 785.00 | \$ 157.00 \$ 314.00 \$ 235.50 \$ 235.50 \$ 78.50 \$ 52.50 |
| 01/25/2023 01/25/2023 01/25/2023 01/26/2023 01/30/2023 02/02/2023 BKBO - Busin | Multiple emails to and from Committee regarding bar date and recommended new bar date Review bar date motion and proposed bar date order Multiple emails to Committee regarding bar date order and extension of bar date Multiple emails Debtor's regarding bar date Review bar date information for creditor Review and consider bar date order and bar date notice ess Operations/Meetings with Debtor Prepare for and attend teleconference with | J. (10135) Detweiler, Donald J. (10135) Detweiler, Donald J. (10135) Detweiler, Donald J. (10135) Detweiler, Donald J. (10135) Atkinson, Todd A. (530) Atkinson, Todd A. (530) Detweiler, Donald | 0.20 0.40 0.30 0.30 0.10 0.10 | 785.00 785.00 785.00 785.00 785.00 525.00 | \$ 157.00 \$ 314.00 \$ 235.50 \$ 235.50 \$ 78.50 \$ 52.50 \$ 1,073.00 |

| Tricida, Inc Tricida, Inc | c. Official Committee of Unsecured Creditors | | | 117789.000 ⁻ | 1.1/4780888 |
|------------------------------|---|---------------------------------|-----------|-------------------------|-------------|
| | retention issues | J. (10135) | | | |
| 01/31/2023 | Conference call with debtors regarding investigation of claims and causes of action | Detweiler, Donald J. (10135) | 0.20 | 785.00 | \$ 157.00 |
| 02/03/2023 | Conference call S. Newman and S. Beach regarding Sidley retention application; Sidley responses to Committee questions | Detweiler, Donald J. (10135) | 0.40 | 785.00 | \$ 314.00 |
| | | | Total for | Task: | \$ 943.00 |
| BKC - Credito | rs Committee Meeting/Conferences | | | | |
| 01/24/2023 | Call with Committee regarding Retention and Immediate Action Items for Committee's Consideration | Detweiler, Donald J. (10135) | 0.50 | 785.00 | \$ 392.50 |
| 01/24/2023 | Multiple emails Committee members scheduling and administrative matters | Detweiler, Donald J. (10135) | 0.20 | 785.00 | \$ 157.00 |
| 01/24/2023 | Draft Committee Bylaws (.8); communicate with Mr. Detweiler and Mr. Ward regarding same (.1) | Atkinson, Todd A. (530) | 0.90 | 525.00 | \$ 472.50 |
| 01/24/2023 | Email (x12) to/from D. Detweiler, T. Atkinson, E. Kosman regarding Committee contact information (.6); prepare notice of appearance (.2); prepare Committee contact list (1.6); download first and second day pleadings (1.4) | Giobbe, Cynthia M.* (10258) | 3.80 | 350.00 | \$ 1,330.00 |
| 01/25/2023 | Prepare information for Committee Call | Detweiler, Donald J. (10135) | 0.20 | 785.00 | \$ 157.00 |
| 01/25/2023 | Participate in Initial Committee Call and obtain direction from Committee as to Immediate Action Items | Detweiler, Donald J. (10135) | 0.40 | 785.00 | \$ 314.00 |
| 01/25/2023 | Multiple emails to and from Committee regarding initial calls with Debtor's counsel and Miller Buckfire and recommended course of action | Detweiler, Donald J. (10135) | 0.50 | 785.00 | \$ 392.50 |
| 01/25/2023 | Prepare for (.3) and attend (.4) initial Committee meeting; discuss same with Mr. Detweiler (.1) | Atkinson, Todd A. (530) | 0.80 | 525.00 | \$ 420.00 |
| 01/26/2023 | Multiple emails Committee call with Noteholder counsel and FTI | Detweiler, Donald J. (10135) | 0.40 | 785.00 | \$ 314.00 |
| 01/26/2023 | Update Committee on hearing and next steps | Detweiler, Donald J. (10135) | 0.70 | 785.00 | \$ 549.50 |
| 01/27/2023 | Review bylaws and attend to Committee procedural matters | Detweiler, Donald J. (10135) | 0.40 | 785.00 | \$ 314.00 |
| 02/01/2023 | Participate in Committee meeting | Kosman, Elazar A. (10329) | 0.60 | 340.00 | \$ 204.00 |
| 02/02/2023 | Draft Committee update and communicate with Committee Members regarding same | Atkinson, Todd A. (530) | 0.30 | 525.00 | \$ 157.50 |
| 02/03/2023 | Participate in Committee meeting | Detweiler, Donald | 0.60 | 785.00 | \$ 471.00 |

117789.0001.1/4780888

Tricida, Inc. Official Committee of Unsecured Creditors

Tricida, Inc. J. (10135) 02/03/2023 Multiple emails regarding Committee retention of Detweiler, Donald 0.30 785.00 \$ 235.50 financial advisor J. (10135) 02/03/2023 Morning video meeting with creditors Committee Ward, Matthew P. 3.60 785.00 \$ 2,826.00 (.6); pre-meeting teleconferences and numerous (2176)correspondences with Committee members and with D. Detweiler (1.0); afternoon video interviews with financial advisor candidates and deliberations with Committee (1.2); follow-up teleconference with candidate (.1); follow-up teleconferences and correspondences with Rock Creek team (.7) 02/03/2023 Prepare for (.3) and attend (.6) Committee Atkinson, Todd A. 0.90 525.00 \$ 472.50 meeting (530)02/04/2023 Conference call Committee financial advisor Detweiler, Donald 0.50 785.00 \$ 392.50 regarding immediate action items to be J. (10135) addressed 02/04/2023 Detweiler, Donald 0.10 Email to Committee regarding open issues 785.00 \$ 78.50 J. (10135) 02/05/2023 Email to Committee regarding Discovery sent to Detweiler, Donald 0.10 785.00 \$ 78.50 Debtor regarding Miller Buckfire Retention J. (10135) 02/07/2023 Prepare for Committee call Detweiler, Donald 0.20 785.00 \$ 157.00 J. (10135) 02/07/2023 Participate in meeting with Committee regarding Detweiler, Donald 0.60 785.00 \$ 471.00 retention of professionals J. (10135) Kosman, Elazar A. 02/07/2023 Participate in creditors meeting 0.60 340.00 \$ 204.00 (10329)02/07/2023 Atkinson, Todd A. 0.90 Prepare for (.3) and attend Committee meeting 525.00 \$ 472.50 (530)(.6)02/07/2023 Atkinson, Todd A. 0.80 Review and consider draft confidentiality 525.00 \$ 420.00 agreement and stipulated protective order and (530)related correspondences (.5); communicate with Mr. Detweiler regarding same (.2); phone call with Mr. Gansman regarding same (.1) 02/07/2023 Review and consider proposed changes to Atkinson, Todd A. 0.60 525.00 \$ 315.00 Bylaws (.3); communicate with Mr. Detweiler (530)regarding same (.1); draft correspondence to Committee Members relative to revised Bylaws (.2)Detweiler, Donald 02/08/2023 Multiple telephone calls / meetings with 0.80 785.00 \$628.00 Committee and Committee members individually J. (10135) regarding Miller Buckfire Retention Applications 02/08/2023 Review and consider proposed changes to Atkinson, Todd A. 0.30 525.00 \$ 157.50 Bylaws (.2); discuss same with Ms. Mark (.1) (530)

Tricida, Inc. Official Committee of Unsecured Creditors Tricida, Inc.

117789.0001.1/4780888

| 02/08/2023 | Review and consider proposed confidentiality agreement and related stipulated protective order (.3); communicate with Ms. Cox regarding same (.1); communicate with Ms. Miller (.1) and, separately, Mr. Detweiler (.1) regarding confidential agreement | Atkinson, Todd A. (530) | 0.60 | 525.00 | \$ 315.00 |
|------------|--|---------------------------------|------|--------|-------------|
| 02/09/2023 | Multiple emails and telephone calls with Committee regarding Miller Buckfire retention issues and settlement proposals | Detweiler, Donald J. (10135) | 1.60 | 785.00 | \$ 1,256.00 |
| 02/09/2023 | Communicate with Ms. Eisele regarding Bylaws (.1); phone call with Mr. Gansman regarding confidentiality agreement (.1) | Atkinson, Todd A. (530) | 0.20 | 525.00 | \$ 105.00 |
| 02/09/2023 | Review and finalize confidentiality agreement (.2); discuss same with Mr. Detweiler (.1); communicate with Ms. Miller and Ms. Cox regarding confidentiality agreement and allowed access to information (.2); communicate with Mr. Gansman regarding same (.1) | Atkinson, Todd A. (530) | 0.60 | 525.00 | \$ 315.00 |
| 02/14/2023 | Prepare for and attend Committee meeting (.9); review and consider correspondence from Mr. Detweiler regarding outline of sale issues in advance of Committee meeting (.2) | Atkinson, Todd A. (530) | 1.10 | 525.00 | \$ 577.50 |
| 02/14/2023 | Review and consider proposed change to confidentiality agreement and related correspondence from Ms. Cox | Atkinson, Todd A. (530) | 0.20 | 525.00 | \$ 105.00 |
| 02/15/2023 | Multiple emails and updates with Committee regarding status of auction | Detweiler, Donald J. (10135) | 0.60 | 785.00 | \$ 471.00 |
| 02/17/2023 | Prepare for and attend creditors' Committee meeting | Atkinson, Todd A. (530) | 0.50 | 525.00 | \$ 262.50 |
| 02/19/2023 | Conference call with Committee professionals regarding mark-ups to Renibus APA and negotiations with purchaser | Detweiler, Donald J. (10135) | 1.00 | 785.00 | \$ 785.00 |
| 02/20/2023 | Prepare for Committee conference call (.4); participate in Committee call (.7) | Detweiler, Donald J. (10135) | 1.10 | 785.00 | \$ 863.50 |
| 02/20/2023 | Participate in meeting with Creditor Committee | Kosman, Elazar A. (10329) | 0.70 | 340.00 | \$ 238.00 |
| 02/20/2023 | Prepare for and attend Committee meeting | Atkinson, Todd A. (530) | 0.70 | 525.00 | \$ 367.50 |
| 02/22/2023 | Call with Committee | Detweiler, Donald J. (10135) | 0.80 | 785.00 | \$ 628.00 |
| 02/23/2023 | Multiple emails Committee regarding disclosure statement issues and meeting | Detweiler, Donald J. (10135) | 0.30 | 785.00 | \$ 235.50 |
| 02/23/2023 | Participate in Committee meeting regarding objection to Disclosure Statement and plan | Detweiler, Donald J. (10135) | 1.20 | 785.00 | \$ 942.00 |
| | | | | | |

Tricida, Inc. Official Committee of Unsecured Creditors Tricida, Inc.

| moida, mo | • | | | | |
|----------------|--|---------------------------------|-----------------|--------|--------------|
| | issues | | | | |
| 02/23/2023 | Review and outline Committee call; plan issues for Disclosure Statement and Plan | Detweiler, Donald J. (10135) | 0.90 | 785.00 | \$ 706.50 |
| 02/23/2023 | Prepare for and attend Committee meeting (1.2); discuss same with Mr. Detweiler (.2) | Atkinson, Todd A. (530) | 1.40 | 525.00 | \$ 735.00 |
| 02/24/2023 | Draft email to Committee regarding limited issues to be addressed at Disclosure statement hearing | Detweiler, Donald J. (10135) | 0.30 | 785.00 | \$ 235.50 |
| 02/24/2023 | Multiple emails Committee regarding Disclosure Statement hearing | Detweiler, Donald J. (10135) | 0.30 | 785.00 | \$ 235.50 |
| 02/24/2023 | Participate in Committee meeting regarding objection to Disclosure Statement and Plan | Detweiler, Donald J. (10135) | 1.10 | 785.00 | \$ 863.50 |
| | | | Total for | Task: | \$ 22,796.50 |
| BKCC - Cash | Collateral | | | | |
| 02/06/2023 | Review cash management order (.2); calendar deadlines regarding same (.2) | Giobbe, Cynthia M.* (10258) | 0.40 | 350.00 | \$ 140.00 |
| | | | Total for | Task: | \$ 140.00 |
| BKCI - Credito | or Information Sharing/1102 Matters | | | | |
| 01/30/2023 | Respond to request for information from 3rd party creditors | Detweiler, Donald J. (10135) | 0.20 | 785.00 | \$ 157.00 |
| 02/03/2023 | Creditor information sharing and Committee bylaws | Detweiler, Donald J. (10135) | 0.30 | 785.00 | \$ 235.50 |
| | | | Total for Task: | | \$ 392.50 |
| BKDIS - Disco | very | | | | |
| 01/26/2023 | Review and propose changes to initial requests to Debtor (.3); communicate with Mr. Detweiler regarding same (.1); research and analyze precedent in support of discovery requests (.3); communicate with Mr. Kosman regarding same (.1); review correspondence from Mr. Solimine regarding discovery (.1) | Atkinson, Todd A. (530) | 0.90 | 525.00 | \$ 472.50 |
| 01/27/2023 | Confer with Debtor's counsel and noteholders' counsel regarding discovery and initial document requests directed to Debtor | Detweiler, Donald J. (10135) | 0.50 | 785.00 | \$ 392.50 |
| 02/05/2023 | Review discovery issues | Detweiler, Donald J. (10135) | 0.20 | 785.00 | \$ 157.00 |
| 02/07/2023 | Confer with E. Kosman regarding discovery served by Debtor in connection with Miller Buckfire objection | Detweiler, Donald J. (10135) | 0.30 | 785.00 | \$ 235.50 |
| 02/07/2023 | Review and analysis of discovery responses served by Debtor to Committee's Request for | Detweiler, Donald | 0.30 | 785.00 | \$ 235.50 |
| | Page | 16 | | | |

| Tricida, Inc Tricida, Inc | c. Official Committee of Unsecured Creditors | | | 117789.000 | 1.1/4780888 |
|------------------------------|--|---------------------------------|-----------|------------|-------------|
| | Production of Documents directed to Debtor and Miller Buckfire | J. (10135) | | | |
| 02/09/2023 | Multiple emails and telephone calls Debtor's counsel regarding depositions, settlement negotiations and Miller Buckfire retention issues | Detweiler, Donald J. (10135) | 0.70 | 785.00 | \$ 549.50 |
| 02/09/2023 | Prepare revised settlement off on Miller Buckfire retention for Committee approval and Debtor's review | Detweiler, Donald J. (10135) | 0.30 | 785.00 | \$ 235.50 |
| 02/14/2023 | Conduct legal research into 3rd Circuit Bankruptcy Courts allowance of third party releases in bankruptcy cases and releases of Directors and officers | Hickman, Matthew L. (10313) | 2.70 | 370.00 | \$ 999.00 |
| 02/14/2023 | Review and analysis of first day affidavit, case information and relevant facts concerning D&O releases and third party releases proposed by Debtor for D&O investigation | Hickman, Matthew L. (10313) | 1.90 | 370.00 | \$ 703.00 |
| 02/14/2023 | Meet with Bob Ambler and Rhett DeHart to obtain background and strategy on investigation into potential insider claims and causes of Tricida in advance of announcement of failed clinical trial for potential new drug developed by the company | Hickman, Matthew L. (10313) | 0.60 | 370.00 | \$ 222.00 |
| 02/15/2023 | Continue research into ability of Third Circuit Bankruptcy Courts third party release issues and draft memo regarding the same | Hickman, Matthew L. (10313) | 2.60 | 370.00 | \$ 962.00 |
| 02/16/2023 | Continue investigation into insider and D&O claims relating to destruction of NOLs | Hickman, Matthew L. (10313) | 2.70 | 370.00 | \$ 999.00 |
| 02/16/2023 | Continue review of information relating to insider claims and causes of action | Hickman, Matthew L. (10313) | 1.50 | 370.00 | \$ 555.00 |
| 02/17/2023 | Review of Tricida internal documents and SEC filings to identify any documents regarding insider and director and officer claims and causes of action in advance of announcing failure of Stage 3 clinical trials | Hickman, Matthew L. (10313) | 2.30 | 370.00 | \$ 851.00 |
| 02/21/2023 | Draft discovery request to Tricida's directors and officers for Committee consideration | Hickman, Matthew L. (10313) | 0.60 | 370.00 | \$ 222.00 |
| | | | Total for | Task: | \$ 7,791.00 |
| BKDS - Disclo | osure Statement | | | | |
| 02/17/2023 | Draft objection to Disclosure Statement and solicitation procedures motion (5.9); review plan and related papers relative to same (1.3); research and analyze issues in support of Disclosure Statement objection (2.4) | Atkinson, Todd A. (530) | 9.60 | 525.00 | \$ 5,040.00 |
| 02/17/2023 | Meeting with D. Detweiler regarding Disclosure | Giobbe, Cynthia | 5.00 | 350.00 | \$ 1,750.00 |

| | Statement objection (.1); review Disclosure Statement notice (.1); prepare certificate of service regarding Committee's objection (.1); revise Disclosure Statement objection (1.6); email (x5) to/from T. Atkinson regarding same (.2); email (x5) to/from D. Detweiler regarding same (.2); telephone call with E. Kosman regarding revisions to objection (.1); further revise objection (2.4); efile same (.1); coordinate service of same (.1) | M.* (10258) | | | |
|------------|---|---------------------------------|------|--------|-------------|
| 02/19/2023 | Review and consider Lead Class Action plaintiffs and SEC objections to Disclosure Statement (.4); prepare for and attend teleconference with Renibus, Sidley, Womble and Rock Creek teams (1.1); teleconference with Womble team regarding same and emergent auction, APA and sale aspects (1.0) | Atkinson, Todd A. (530) | 2.50 | 525.00 | \$ 1,312.50 |
| 02/20/2023 | Retrieve and review joint note holders limited objection (.1); email to D. Detweiler, T. Atkinson and E. Kosman (.1) | Giobbe, Cynthia M.* (10258) | 0.20 | 350.00 | \$ 70.00 |
| 02/22/2023 | Emails to Committee regarding plan and Disclosure Statement issues | Detweiler, Donald J. (10135) | 0.40 | 785.00 | \$ 314.00 |
| 02/23/2023 | Multiple telephone calls Debtor's counsel regarding Disclosure Statement issues | Detweiler, Donald J. (10135) | 0.30 | 785.00 | \$ 235.50 |
| 02/23/2023 | Telephone calls internal team plan and Disclosure Statement objection and open issues | Detweiler, Donald J. (10135) | 0.60 | 785.00 | \$ 471.00 |
| 02/23/2023 | Telephone call Debtor's counsel, S. Newman regarding Disclosure Statement hearing and open issues | Detweiler, Donald J. (10135) | 0.30 | 785.00 | \$ 235.50 |
| 02/23/2023 | Analysis of release issues under Plan | Detweiler, Donald J. (10135) | 1.10 | 785.00 | \$ 863.50 |
| 02/23/2023 | Review UST Disclosure Statement objection (.3); research and analyze Disclosure Statement issues in support of objection to Disclosure Statement, including release and opt in/out mechanisms (1.6); draft proposed order language reserving and preserving rights and language for inserting to Disclosure Statement (.6); communicate with Mr. Detweiler regarding same (.1); review and consider Debtor's reply in support of Disclosure Statement and related proposed order (.4); research and analyze issues regarding, including plan classification (.5); communicate with Mr. Detweiler regarding reply (.3) | Atkinson, Todd A. (530) | 3.80 | 525.00 | \$ 1,995.00 |
| 02/23/2023 | Discussion on Disclosure Statement regarding research and objection to DS | Kosman, Elazar A. (10329) | 0.70 | 340.00 | \$ 238.00 |

| Tricida, Ind Tricida, Ind | c. Official Committee of Unsecured Creditors | | • | 117789.000° | 1.1/4780888 |
|------------------------------|--|---------------------------------|------|-------------|-------------|
| 02/24/2023 | Draft email to the Court regarding limited issues to be addressed at Disclosure Statement hearing | Detweiler, Donald J. (10135) | 0.30 | 785.00 | \$ 235.50 |
| 02/24/2023 | Review updated version of Disclosure Statement | Detweiler, Donald J. (10135) | 0.80 | 785.00 | \$ 628.00 |
| 02/24/2023 | Draft updated disclosures for Disclosure Statement for Disclosure Statement (1.3); send disclosures to Debtor (.1) | Detweiler, Donald J. (10135) | 1.40 | 785.00 | \$ 1,099.00 |
| 02/24/2023 | Research reservation of rights issues for Disclosure Statement (2.1); continue research adequate information in disclosures (.9) | Kosman, Elazar A. (10329) | 3.00 | 340.00 | \$ 1,020.00 |
| 02/26/2023 | Review and reply to emails from Don Detweiler regarding grantor trust matter | Jones, Jane Jeffries (988) | 0.20 | 895.00 | \$ 179.00 |
| 02/26/2023 | Review and analysis of Disclosure Statement objections of US Trustee and SEC and issues with Disclosure statement | Detweiler, Donald J. (10135) | 0.80 | 785.00 | \$ 628.00 |
| 02/26/2023 | Multiple emails regarding tax issues arising as a result of contingent payments and potential impact on Plan distributions | Detweiler, Donald J. (10135) | 0.20 | 785.00 | \$ 157.00 |
| 02/26/2023 | Review and analysis of disputed ownership fund election issues and emails to tax team regarding the same | Detweiler, Donald J. (10135) | 0.40 | 785.00 | \$ 314.00 |
| 02/27/2023 | Review revised Disclosure Statement and Plan filed by Debtor | Detweiler, Donald J. (10135) | 0.80 | 785.00 | \$ 628.00 |
| 02/27/2023 | Telephone call S. Newman regarding Disclosure Statement Hearing | Detweiler, Donald J. (10135) | 0.10 | 785.00 | \$ 78.50 |
| 02/27/2023 | Telephone call internal team regarding Disclosure Statement and Plan issues | Detweiler, Donald J. (10135) | 0.60 | 785.00 | \$ 471.00 |
| 02/27/2023 | Email to Committee regarding results of Disclosure Statement hearing and continued hearing and objection deadline | Detweiler, Donald J. (10135) | 0.50 | 785.00 | \$ 392.50 |
| 02/27/2023 | Review and consider multiple revisions to Disclosure Statement and Plan, proposed order and ballot and related correspondences (1.5); prepare for and participate in teleconference with Debtor's counsel, Noteholders' counsel and others regarding Disclosure Statement and related proposed new plan construct regarding tax issues (.7); discuss same with Mr. Detweiler (.3); research and analyze liquidating plans/plan administrator issues relative to new plan construct and related issues (.5); communicate with Mr. Detweiler regarding same (.1) | Atkinson, Todd A. (530) | 3.10 | 525.00 | \$ 1,627.50 |
| 02/27/2023 | Review Disclosure Statement and objections to inadequate disclosures | Kosman, Elazar A. (10329) | 1.60 | 340.00 | \$ 544.00 |

| | Case 23-10024-JTD | Doc 443-2 | Filed 05/09/23 | Page 21 of 40 |
|--|-------------------|-----------|----------------|---------------|
|--|-------------------|-----------|----------------|---------------|

| Tricida, Inc Tricida, Inc | c. Official Committee of Unsecured Creditors | | | 117789.000 | 1.1/4780888 |
|------------------------------|---|---------------------------------|-----------|------------|--------------|
| 02/28/2023 | Work on Disclosure Statement issues | Detweiler, Donald J. (10135) | 1.00 | 785.00 | \$ 785.00 |
| 02/28/2023 | Review notice of Disclosure Statement hearing (.1); calendar hearing and objection deadlines (.1); email to Womble and Rock Creek teams regarding same (.1) | Giobbe, Cynthia M.* (10258) | 0.30 | 350.00 | \$ 105.00 |
| | | | Total for | Task: | \$ 21,417.00 |
| BKE - Executo | ory Contracts/Lease Agreements | | | | |
| 01/30/2023 | Review executory contract information for sale issues | Detweiler, Donald J. (10135) | 0.10 | 785.00 | \$ 78.50 |
| 02/05/2023 | Review Cigna objection to proposed assumption/assignment | Atkinson, Todd A. (530) | 0.10 | 525.00 | \$ 52.50 |
| 02/14/2023 | Communicate with Ms. Miller regarding Patheon termination and agreements (.1); review Patheon termination letter and agreements (.3) | Atkinson, Todd A. (530) | 0.40 | 525.00 | \$ 210.00 |
| 02/22/2023 | Review assumption notice (.1); calendar deadline regarding same (.1) | Giobbe, Cynthia M.* (10258) | 0.20 | 350.00 | \$ 70.00 |
| | | | Total for | Task: | \$ 411.00 |
| BKEB - Emplo | yee Benefits | | | | |
| 02/02/2023 | Review employee wage motion; revise draft objection to employee wage motion | Detweiler, Donald J. (10135) | 0.70 | 785.00 | \$ 549.50 |
| 02/02/2023 | Telephone call T. Atkinson regarding employee wage motion | Detweiler, Donald J. (10135) | 0.20 | 785.00 | \$ 157.00 |
| 02/03/2023 | Emails regarding employee wage motion | Detweiler, Donald J. (10135) | 0.20 | 785.00 | \$ 157.00 |
| 02/03/2023 | Perform spreadsheet analysis on Sidley Austin prepetition payments | Detweiler, Donald J. (10135) | 0.40 | 785.00 | \$ 314.00 |
| | | | Total for | Task: | \$ 1,177.50 |
| BKF - Fee App | olication/Monthly Billing | | | | |
| 02/20/2023 | Prepare draft of Womble first monthly fee application and notice | Giobbe, Cynthia M.* (10258) | 1.00 | 350.00 | \$ 350.00 |
| 02/23/2023 | Further prepare Womble Bond first monthly fee application | Giobbe, Cynthia M.* (10258) | 0.80 | 350.00 | \$ 280.00 |
| | | | Total for | Task: | \$ 630.00 |
| BKFDP - First | Day Pleadings | | | | |
| 01/24/2023 | Review and analysis of First Day Pleadings and Matters up for hearing before the Court on 1/26/23 | Detweiler, Donald J. (10135) | 1.40 | 785.00 | \$ 1,099.00 |
| 01/24/2023 | Review and consider case background, including | | 2.10 | 525.00 | \$ 1,102.50 |
| | Page | 20 | | | |

| Tricida, Inc Tricida, Inc | c. Official Committee of Unsecured Creditors | | | 117789.000 ⁻ | 1.1/4780888 |
|------------------------------|--|---------------------------------|-----------|-------------------------|-------------|
| | first day papers and bidding procedures | (530) | | | |
| 01/25/2023 | Continue review of first day pleadings and matters set for upcoming hearing | Detweiler, Donald J. (10135) | 1.20 | 785.00 | \$ 942.00 |
| 01/27/2023 | Multiple calls E. Kosman regarding Second Day hearing and matters set for hearing and objections needed | Detweiler, Donald J. (10135) | 0.50 | 785.00 | \$ 392.50 |
| 01/27/2023 | Draft memo of prior motions for Committee | Kosman, Elazar A. (10329) | 3.50 | 340.00 | \$ 1,190.00 |
| 01/30/2023 | Research legal issues for potential objections to first day motions | Kosman, Elazar A. (10329) | 1.30 | 340.00 | \$ 442.00 |
| 02/01/2023 | Phone call with Mr. Detweiler regarding first-day motions and potential objections (.1); review and analyze first-day pleadings, including Warehousemen, Wages and Rejection motions (.8); communicate with Mr. Detweiler with comments to same (.3) | Atkinson, Todd A. (530) | 1.20 | 525.00 | \$ 630.00 |
| 02/01/2023 | Review and consider wages motion and related retention/severance payment aspects (.3); draft reservation of rights regarding wages motion (.5); communicate with Mr. Detweiler regarding same (.1) | Atkinson, Todd A. (530) | 0.90 | 525.00 | \$ 472.50 |
| 02/02/2023 | Review, revise and finalize reservation of rights regarding wages motion (.3); discuss same with Mr. Detweiler (.1); communicate with Committee Members regarding reservation of rights filing (.1); communicate with Ms. Giobbe regarding filing of same (.1) | Atkinson, Todd A. (530) | 0.60 | 525.00 | \$ 315.00 |
| | | | Total for | Task: | \$ 6,585.50 |
| BKFE - Fee/Er | mployment Objections | | | | |
| 02/02/2023 | Email (x5) to/from T. Atkinson regarding reservation of rights to wages motion (.3); review wages motion (.2); prepare certificate of service regarding same (.2); efile same (.1); coordinate service of same (.1) | Giobbe, Cynthia M.* (10258) | 0.90 | 350.00 | \$ 315.00 |
| 02/03/2023 | Prepare certificate of service regarding objection to Miller Buckfire retention application (.1); email (x3) to/from T. Atkinson regarding same (.2); prepare objection and certificate of service for filing (.1); efile same (.1); coordinate service of same (.1) | Giobbe, Cynthia M.* (10258) | 0.60 | 350.00 | \$ 210.00 |
| 02/07/2023 | Email (x4) to/from D. Detweiler regarding depositions (.2); review Debtor's deposition notice to Committee (.1); coordinate deposition logistics (.7); prepare deposition notice of R. McKague, L. Perkins and A. Rohan (.4); efile deposition notices (.2); coordinate service of | Giobbe, Cynthia M.* (10258) | 5.60 | 350.00 | \$ 1,960.00 |

117789.0001.1/4780888

same (.1); email to/from G. Matthews regarding zoom information (.1); email to D. Detweiler regarding same (.1); email (x5) to/from D. Detweiler regarding production of documents (.1); revise and prepare production to Debtor's counsel (.3); email to Debtor's counsel with same (.1); prepare notice of service of production (.1); efile same (.1); prepare deposition exhibit binders (1.5); assist in preparation of deposition materials (1.5)

| | | | Total for Task: | | \$ 2,485.00 |
|---------------|---|---------------------------------|-----------------|--------|-------------|
| BKFT - Estate | Causes of Action (Non-Preference) | | | | |
| 01/25/2023 | Organize file information | Kosman, Elazar A. (10329) | 2.00 | 340.00 | \$ 680.00 |
| | | | Total for T | ask: | \$ 680.00 |
| BKG - Genera | l Case Administration | | | | |
| 01/24/2023 | Coordinate new case assignment with Womble Bond Team and Immediate Matters to be addressed | Detweiler, Donald J. (10135) | 0.40 | 785.00 | \$ 314.00 |
| 01/24/2023 | Review SEC public filings on Debtor and recent transactions and issues | Detweiler, Donald J. (10135) | 0.60 | 785.00 | \$ 471.00 |
| 01/25/2023 | Emails to Debtor's counsel regarding Committee representation and initial conference call | Detweiler, Donald J. (10135) | 0.20 | 785.00 | \$ 157.00 |
| 01/25/2023 | Initial Conference call with Debtor's counsel | Detweiler, Donald J. (10135) | 0.60 | 785.00 | \$ 471.00 |
| 01/25/2023 | Confer with E. Kosman regarding retention applications and pleadings to be review and analyzed | Detweiler, Donald J. (10135) | 0.30 | 785.00 | \$ 235.50 |
| 01/25/2023 | Retention and conflict issues | Detweiler, Donald J. (10135) | 0.30 | 785.00 | \$ 235.50 |
| 01/25/2023 | Teleconference with T. Atkinson (.3); teleconference with J. Gansman (.2) | Ward, Matthew P. (2176) | 0.50 | 785.00 | \$ 392.50 |
| 01/25/2023 | Review filings (.4); prepare critical dates calendar (1.0); email to D. Detweiler, M. Ward, T. Atkinson and E. Kosman regarding same (.1); prepare index of first and second day filings (.6); prepare electronic binder (.1); email (x3) to Reliable to prepare hardcopy of binders (.1); email to/from T. Atkinson regarding same (.1); email (x3) to/from D. Detweiler regarding Committee contact revisions (.2); revise (x2) Committee contact list (.3) | Giobbe, Cynthia M.* (10258) | 2.50 | 350.00 | \$ 875.00 |
| 01/26/2023 | Retention and conflict issues | Detweiler, Donald J. (10135) | 0.30 | 785.00 | \$ 235.50 |

| Tricida, Inc Tricida, Inc | . Official Committee of Unsecured Creditors | | | 117789.0001 | 1.1/4780888 |
|------------------------------|--|---------------------------------|-----------|-------------|-------------|
| 01/26/2023 | Review first day motions and analyze relief requested (1.3); review wages info and prepetition hours payments (1.2); draft memo on first day pleadings and relief requested (3.0) | Kosman, Elazar A. (10329) | 5.50 | 340.00 | \$ 1,870.00 |
| 01/26/2023 | Email to/from D. Detweiler regarding notice of appearance (.1); revise same (.1); efile same (.1) | Giobbe, Cynthia M.* (10258) | 0.30 | 350.00 | \$ 105.00 |
| 01/31/2023 | Revise critical dates calendar (.2); email to D. Detweiler, T. Atkinson and E. Kosman (.1) | Giobbe, Cynthia M.* (10258) | 0.30 | 350.00 | \$ 105.00 |
| 02/02/2023 | Prepare Committee, contact information, advisors, and address Committee administrative issues | Detweiler, Donald J. (10135) | 0.20 | 785.00 | \$ 157.00 |
| 02/03/2023 | Review ECF filings (.1); revise weekly critical dates calendar (.1) | Giobbe, Cynthia M.* (10258) | 0.20 | 350.00 | \$ 70.00 |
| 02/06/2023 | Email to/from D. Detweiler regarding financial advisor (.1); update Committee contact list (.1) | Giobbe, Cynthia M.* (10258) | 0.20 | 350.00 | \$ 70.00 |
| 02/09/2023 | Multiple calls Rock Creek regarding Miller Buckfire retention, sale issues, and potential costs to restart sale process | Detweiler, Donald J. (10135) | 0.50 | 785.00 | \$ 392.50 |
| 02/10/2023 | Calendar numerous dates for G. Gansman and B. Ayers (.2); review ECF filings and revise weekly critical dates calendar (.2) | Giobbe, Cynthia M.* (10258) | 0.40 | 350.00 | \$ 140.00 |
| 02/14/2023 | Revise critical dates calendar | Giobbe, Cynthia M.* (10258) | 0.10 | 350.00 | \$ 35.00 |
| 02/17/2023 | Review and revise weekly critical dates calendar | Giobbe, Cynthia M.* (10258) | 0.20 | 350.00 | \$ 70.00 |
| 02/20/2023 | Email to/from B. Whitaker regarding service parties (.1); email to T. Atkinson regarding same (.1) | Giobbe, Cynthia M.* (10258) | 0.20 | 350.00 | \$ 70.00 |
| | | | Total for | Task: | \$ 6,471.50 |
| BKGO - GOB | Sale | | | | |
| 01/30/2023 | Review bid procedures and sale notices (.2); updated critical dates calendar (.6); calendar deadlines (.2) | Giobbe, Cynthia M.* (10258) | 1.00 | 350.00 | \$ 350.00 |
| 02/17/2023 | Meeting with D. Detweiler regarding sale objection (.1); review sale notice (.1); prepare certificate of service regarding same (.1); revise objection (.3) | Giobbe, Cynthia M.* (10258) | 0.60 | 350.00 | \$ 210.00 |
| 02/21/2023 | Email (x7) to/from D. Detweiler regarding exhibit list regarding Committee objection to sale motion (.3); prepare notice of exhibit list (.5); prepare exhibits regarding same (.3); efile notice of exhibit list (.1); coordinate service of same (.1); coordinate preparation of exhibit binders (.2); | Giobbe, Cynthia M.* (10258) | 2.10 | 350.00 | \$ 735.00 |

117789.0001.1/4780888

email (x4) to/from D. Detweiler and T. Atkinson regarding witness list regarding sale objection (.2); prepare notice of witness list (.2); efile same (.1); coordinate service of same (.1)

| | | | Total for Task: | | \$ 1,295.00 |
|---------------|---|---------------------------------|-----------------|--------|-------------|
| BKH - Court H | learings/Preparation/Agenda | | | | |
| 01/24/2023 | Assist in preparation for 1/26/23 hearing (.8); email (x6) to D. Detweiler, T Atkinson, E. Kosman (.2) | Giobbe, Cynthia M.* (10258) | 1.00 | 350.00 | \$ 350.00 |
| 01/25/2023 | Email to/from T. Atkinson regarding zoom registration (.1); register T. Atkinson regarding 1/26/23 hearing (.1) | Giobbe, Cynthia M.* (10258) | 0.20 | 350.00 | \$ 70.00 |
| 01/26/2023 | Prepare for and attend hearing on bidding procedures | Detweiler, Donald J. (10135) | 0.70 | 785.00 | \$ 549.50 |
| 01/26/2023 | Attend court hearing | Kosman, Elazar A. (10329) | 0.50 | 340.00 | \$ 170.00 |
| 01/26/2023 | Review agenda; discuss motions with D. Detweiler | Kosman, Elazar A. (10329) | 0.50 | 340.00 | \$ 170.00 |
| 01/26/2023 | Review and consider amended hearing agenda and revised orders in advance of hearing (.3); prepare for and attend hearing (.5) | Atkinson, Todd A. (530) | 0.80 | 525.00 | \$ 420.00 |
| 01/26/2023 | Email (x4) to/from D. Detweiler regarding 1/26/23 hearing (.2); preparation for bid procedures and bar date hearing (.8); email to/from E. Kosman regarding 1/26/23 hearing (.1); email to/from T. Atkinson regarding second day hearing binder (.1); retrieve and review entered orders (.2) | Giobbe, Cynthia M.* (10258) | 1.40 | 350.00 | \$ 490.00 |
| 02/01/2023 | Email (x2) to/from D. Detweiler regarding upcoming hearings (.1); calendar same (.1) | Giobbe, Cynthia M.* (10258) | 0.20 | 350.00 | \$ 70.00 |
| 02/07/2023 | Email to Debtor's counsel regarding March omnibus hearing date (.1); retrieve and review 2/9/23 hearing agenda (.1); email (x4) to D. Detweiler, T. Atkinson and E. Kosman (.2); assist in hearing preparation regarding same (.5) | Giobbe, Cynthia M.* (10258) | 0.90 | 350.00 | \$ 315.00 |
| 02/08/2023 | Preparation (x2) of hearing binder regarding 2/9/23 hearing (.5); retrieve and review 2/9/23 amended hearing agenda (.1); email to T. Atkinson regarding same (.1); preparation of exhibit and witness list for 2/9/23 hearing (1.5); preparation of exhibits regarding same (1.0); email (x5) to D. Detweiler regarding same (.3); email to E. Kosman regarding same (.1); efile witness and exhibit list (.1); email (x3) to Chambers regarding exhibits (.1); email to Debtor's counsel regarding exhibit (.1); review entered omnibus order regarding 3/21/23 | Giobbe, Cynthia M.* (10258) | 4.30 | 350.00 | \$ 1,505.00 |

Tricida, Inc. Official Committee of Unsecured Creditors 117789.0001.1/4780888 Tricida, Inc. hearing (.1); calendar deadlines regarding same (.1); email (x2) to/from T. Atkinson regarding zoom registration for 2/9/23 hearing (.1); register T. Atkinson regarding same (.1) 02/09/2023 Retrieve and review 2/9/23 hearing agenda (.1); Giobbe, Cynthia 0.60 350.00 \$ 210.00 email to D. Detweiler and T. Atkinson regarding M.* (10258) same (.1); review 3/21/23 omnibus hearing order (.1); calendar deadlines regarding same (.1); email to D. Detweiler regarding same (.1); email to T. Atkinson regarding approaching hearing and objection deadlines (.1) 02/16/2023 Retrieve and review 2/21/23 hearing agenda (.1); Giobbe, Cynthia 1.10 350.00 \$ 385.00 email to D. Detweiler, T. Atkinson, E. Kosman, B, M.* (10258) Ayres, J. Gansman regarding same (.1); register T. Atkinson regarding zoom link (.1); prepare 2/21/23 hearing binder (x2) (.8) 02/17/2023 Retrieve ECF filings and update 2/17/23 hearing Giobbe, Cynthia 0.70 350.00 \$ 245.00 binder M.* (10258) 02/20/2023 Revise 2/21/23 hearing binder Giobbe, Cynthia 0.40 350.00 \$ 140.00 M.* (10258) 02/21/2023 Prepare for sale hearing Detweiler, Donald 1.50 785.00 \$ 1,177.50 J. (10135) 02/21/2023 Detweiler, Donald 3.20 785.00 Review, revise and circulate language regarding \$ 2,512.00 Renibus APA and Committee's objections and J. (10135) concerns with sale 02/21/2023 Prepare for (.4) and attend (.4) sale hearing Atkinson, Todd A. 0.80 525.00 \$ 420.00 (530)02/21/2023 Participate in hearing Kosman, Elazar A. 0.60 340.00 \$ 204.00 (10329)\$ 665.00 02/21/2023 Email (x8) to/from D. Detweiler regarding hearing Giobbe, Cynthia 1.90 350.00 preparation (.2); email (x4) to/from E. Kosman M.* (10258) regarding hearing preparation (.1); retrieve numerous ECF filings regarding 2/21/23 hearing (.5); update hearing binder s (x2) (.9); register J. Gansman regarding zoom link (.1); email to J. Gansman regarding same (.1) 02/23/2023 1.00 350.00 \$ 350.00 Retrieve and review 2/27/23 hearing agenda (.1); Giobbe, Cynthia email to D. Detweiler, T. Atkinson, E. Kosman, J. M.* (10258) Gansman and B. Ayers regarding same (.1); register T. Atkinson for zoom link (.1); email to T. Atkinson regarding same; register J. Gansman and B. Ayers for zoom link (.1); email to J. Gansman and B. Ayers regarding same (.1); prepare hearing binder regarding 2/27/23 hearing (.5)

Detweiler, Donald

Prepare for Disclosure Statement Hearing (.5);

02/27/2023

1.60

785.00

\$ 1,256.00

| Tricida, Inc Tricida, Inc | . Official Committee of Unsecured Creditors | | | 117789.000 | 1.1/4780888 |
|------------------------------|--|---------------------------------|-----------|------------|--------------|
| | attend hearing (1.1) | J. (10135) | | | |
| 02/27/2023 | Prepare for and attend disclosure statement hearing (1.3); discuss same with Mr. Detweiler (.1) | Atkinson, Todd A. (530) | 1.40 | 525.00 | \$ 735.00 |
| 02/27/2023 | Participate in court hearing | Kosman, Elazar A. (10329) | 1.10 | 340.00 | \$ 374.00 |
| 02/27/2023 | Email to/from D. Detweiler regarding 2/28/23 hearing (.1); prepare hearing binder regarding same (.6); register E. Kosman for 2/28/23 hearing (.1) | Giobbe, Cynthia M.* (10258) | 0.80 | 350.00 | \$ 280.00 |
| 02/28/2023 | Retrieve and review 4/6/23 adjourned hearing notice (.1); update calendars (.1); email to WBD and Rock Creek teams (.1) | Giobbe, Cynthia M.* (10258) | 0.30 | 350.00 | \$ 105.00 |
| | | | Total for | Task: | \$ 13,168.00 |
| BKIC - Intra-O | ffice Conference/Multi-Person Activities | | | | |
| 01/27/2023 | Multiple calls with E. Kosman regarding first day motions and retention issues | Detweiler, Donald J. (10135) | 0.40 | 785.00 | \$ 314.00 |
| | | | Total for | Task: | \$ 314.00 |
| BKII - Insuran | ce Issues | | | | |
| 02/13/2023 | Review and consider correspondence from Mr. Ambler regarding D&O Insurance (.1); research and analyze issues regarding same, including SOFA review and Debtor's response to due diligence requests (.3); communicate with Mr. Ambler regarding insurance policies (.1) | Atkinson, Todd A. (530) | 0.50 | 525.00 | \$ 262.50 |
| 02/28/2023 | Review and consider Debtor's insurance run off policies and related correspondence from Ms. Miller (.3); communicate with Mr. DeHart regarding same (.1) | Atkinson, Todd A. (530) | 0.40 | 525.00 | \$ 210.00 |
| | | | Total for | Task: | \$ 472.50 |
| BKM - Other M | lotion Practice | | | | |
| 02/07/2023 | Email to/from T. Atkinson regarding motion to abandon property (.1); calendar deadline regarding same | Giobbe, Cynthia M.* (10258) | 0.20 | 350.00 | \$ 70.00 |
| 02/22/2023 | Research Section 3013 issues | Kosman, Elazar A. (10329) | 2.60 | 340.00 | \$ 884.00 |
| 02/22/2023 | Meeting on creditor classification issues with Mr. Detweiler | Kosman, Elazar A. (10329) | 1.00 | 340.00 | \$ 340.00 |
| 02/23/2023 | Research law pertaining to classification of claims (3.2); emails regarding classification issues (.3); continue research classification and vote gerrymandering | Kosman, Elazar A. (10329) | 7.30 | 340.00 | \$ 2,482.00 |

| | | | Total for | Task: | \$ 3,776.00 |
|--------------|--|---------------------------------|-----------|--------|-------------|
| BKO - Claims | Administration | | | | |
| 02/14/2023 | Telephone call with D. Detweiler regarding claims register (.2); review proofs of claims filed and prepare chart of same (1.0) | Giobbe, Cynthia M.* (10258) | 1.20 | 350.00 | \$ 420.00 |
| | | | Total for | Task: | \$ 420.00 |
| BKPO - Plan | of Reorganization | | | | |
| 01/27/2023 | Communicate with Mr. Detweiler regarding plan and disclosure statement review and analysis (.1); review disclosure statement, plan and solicitation procedures motion (.4) | Atkinson, Todd A. (530) | 0.50 | 525.00 | \$ 262.50 |
| 01/30/2023 | Review and analyze Debtor's disclosure statement and plan of liquidation | Atkinson, Todd A. (530) | 0.70 | 525.00 | \$ 367.50 |
| 01/31/2023 | Review disclosure statement, plan and motion for approval of solicitation procedures | Atkinson, Todd A. (530) | 1.10 | 525.00 | \$ 577.50 |
| 02/10/2023 | Review plan and disclosure statement regarding analysis of director and officer claims and potential releases of such claims under the plan | Detweiler, Donald J. (10135) | 0.90 | 785.00 | \$ 706.50 |
| 02/10/2023 | Research and analyze issues regarding disclosure statement objection, and plan releases (.7); outline issues regarding disclosure statement objection (.4) | Atkinson, Todd A. (530) | 1.10 | 525.00 | \$ 577.50 |
| 02/14/2023 | Review plan and disclosure statement (.4); research and analyze release and insurance issues regarding same (.4) | Atkinson, Todd A. (530) | 0.80 | 525.00 | \$ 420.00 |
| 02/22/2023 | Teleconference with Mr. Detweiler and Mr. Kosman regarding plan issues and Rule 3013 issues (.4); research and analyze issues regarding same, including motions to classify under Rule 3013 (.9) | Atkinson, Todd A. (530) | 1.30 | 525.00 | \$ 682.50 |
| 02/23/2023 | Review and analyze plan (2.1); discuss same with Mr. Detweiler (.6) | Atkinson, Todd A. (530) | 2.70 | 525.00 | \$ 1,417.50 |
| 02/24/2023 | Review class action complaint and class action plaintiffs' objection to Disclosure Statement | Detweiler, Donald J. (10135) | 0.40 | 785.00 | \$ 314.00 |
| 02/24/2023 | Research law for opt out provision in plan | Kosman, Elazar A. (10329) | 2.50 | 340.00 | \$ 850.00 |
| 02/27/2023 | Review and analysis of Plan issues | Detweiler, Donald J. (10135) | 1.10 | 785.00 | \$ 863.50 |
| 02/27/2023 | Review and analysis of Plan release issues | Detweiler, Donald J. (10135) | 0.80 | 785.00 | \$ 628.00 |
| 02/27/2023 | Discussion on tax repercussion depending upon reorganization structure | Kosman, Elazar A. (10329) | 1.00 | 340.00 | \$ 340.00 |

| 02/28/2023a Review and analysis and objections to plan (2.3 and disclosure issues (1.7) Detweller, Donald J. (10135) 4.00 785.00 \$ 3,140.00 02/28/2023a Call with Davis Polk and Sidley Austin tax teams regarding transactions proposed under plan of liquidation Total for Task: \$ 11,618.00 BKRA - Rotention of Applicant 01/25/2023a Run conflicts check and add interested party to matter Kosman, Elazar A. (10329) 1.00 340.00 \$40.00 \$ 400.00 01/25/2023 Draft retention application Kosman, Elazar A. (10329) 1.00 340.00 \$40.00 \$ 400.00 01/27/2023 Meet with Mr. Detweller to discuss retention application application application application (530) Atkinson, Todd A. (530) 525.00 \$157.50 01/29/2023 Draft list of interested parties Kosman, Elazar A. (10329) 4.00 340.00 \$1.360.00 \$ 1,70.00 01/29/2023 Draft list of interested parties Kosman, Elazar A. (10329) 4.00 340.00 \$1.360.00 \$ 1,70.00 01/29/2023 Draft womble retention application (10329) Kosman, Elazar A. (10329) 5.70 340.00 \$1.380.00 \$ 1,70.00 01/30/2023 Draft potential interested parties list (2); prepare parties-in-interest list (2); prepare parties-in-interest list (2); prepare parties-in- | Tricida, Inc Tricida, Inc | . Official Committee of Unsecured Creditors . | | | 117789.000 | 1.1/4780888 |
|--|------------------------------|---|---|-----------|------------|--------------|
| Regarding transactions proposed under plan of liquidation Total for Task: \$11,618.00 | 02/28/2023 | | | 4.00 | 785.00 | \$ 3,140.00 |
| BKRRA - Reterritor of Applicant 01/25/2023 Run conflicts check and add interested party to matter Kosman, Elazar A. (1.00 340.00 \$.340.00 \$.340.00 01/25/2023 Draft retention application Kosman, Elazar A. (1.20 340.00 \$.408.00 01/27/2023 Meet with Mr. Detweiler to discuss retention application Kosman, Elazar A. (10329) 0.50 340.00 \$.170.00 01/27/2023 Review potential conflict issues (2); communicate with Mr. Detweiler and Mr. Kosman regarding same (.1) Atkinson, Todd A. (10329) 0.30 \$25.00 \$.157.50 01/29/2023 Draft list of interested parties Kosman, Elazar A. (10329) 4.00 340.00 \$.1360.00 01/29/2023 Draft womble retention application Kosman, Elazar A. (10329) 0.50 340.00 \$.170.00 01/30/2023 Draft potential interested parties list Kosman, Elazar A. (10329) 1.70 340.00 \$.1938.00 01/30/2023 Telephone call with E. Kosman regarding parties-in-interest list for Womble Bond retention application (2.1); email to E. Kosman regarding parties-in-interest list for Womble Bond retention application (2.1); email to E. Kosman regarding Retention issues Detweller, Donald J. (10135) 0.20 785.00 \$.157.00 01/31/2023 Draft retention application Kosman, Elazar A. (10329) 2.00 340.00 \$.680.00 | 02/28/2023 | regarding transactions proposed under plan of | | 0.60 | 785.00 | \$ 471.00 |
| Number N | | | | Total for | Task: | \$ 11,618.00 |
| matter (10329) 01/25/2023 Draft retention application Kosman, Elazar A. (10329) 1.20 340.00 \$408.00 \$408.00 01/27/2023 Meet with Mr. Detweiler to discuss retention application Kosman, Elazar A. (10329) 0.50 340.00 \$170.00 \$170.00 \$170.00 01/27/2023 Review potential conflict issues (.2); communicate with Mr. Detweiler and Mr. Kosman regarding same (.1) Alkinson, Todd A. (530) 0.30 525.00 \$157.50 01/29/2023 Draft list of interested parties Kosman, Elazar A. (10329) 4.00 340.00 \$1,360.00 \$1,70.00 (10329) 01/30/2023 Continue drafting of Womble retention application Kosman, Elazar A. (10329) 0.50 340.00 \$1,938.00 \$1,70.00 (10329) 01/30/2023 Draft Womble retention application Kosman, Elazar A. (10329) 1.70 340.00 \$1,938.00 \$1,938.00 01/30/2023 Telephone call with E. Kosman regarding parties-in-interest list (2); prepare parties-in-interest list (2); prepare parties-in-interest list for Womble Bond retention application (2.1); email to E. Kosman regarding retention issues Detweiler, Donald J. (10359) 0.20 785.00 \$157.00 01/31/2023 Prepare potential conflicts result Kosman, Elazar A. (10329) 1.80 340.00 \$680.00 01/31/2023 Prepare potential conflicts result Kosman, Elazar A. (103 | BKRA - Retent | tion of Applicant | | | | |
| 1/27/2023 Meet with Mr. Detweiler to discuss retention application (10329) (10 | 01/25/2023 | · · · · · · · · · · · · · · · · · · · | | 1.00 | 340.00 | \$ 340.00 |
| Atkinson, Todd A. | 01/25/2023 | Draft retention application | | 1.20 | 340.00 | \$ 408.00 |
| communicate with Mr. Detweiler and Mr. Kosman regarding same (.1) (530) 01/29/2023 Draft list of interested parties Kosman, Elazar A. (10329) 4.00 340.00 \$1,360.00 01/29/2023 Continue drafting of Womble retention application Kosman, Elazar A. (10329) 0.50 340.00 \$170.00 01/30/2023 Draft Womble retention application Kosman, Elazar A. (10329) 5.70 340.00 \$1,938.00 01/30/2023 Draft potential interested parties list (10329) Kosman, Elazar A. (10329) 1.70 340.00 \$578.00 01/30/2023 Telephone call with E. Kosman regarding parties-in-interest list (2); prepare parties-in-interest list for Womble Bond retention application (2.1); email to E. Kosman regarding same (.1) Detweiler, Donald J. (10258) 2.40 350.00 \$157.00 \$157.00 01/31/2023 Multiple calls with E. Kosman regarding retention issues Detweiler, Donald J. (10329) 0.20 785.00 \$157.00 \$680.00 01/31/2023 Prepare potential conflicts result Kosman, Elazar A. (10329) 1.80 340.00 \$612.00 \$612.00 02/03/2023 Review draft of WBD retention application (.1) Detweiler, Donald J. (10135) 0.50 785.00 \$392.50 \$392.50 02/05/2023 Review and consider draft WBD retention Alkinson, Todd A. 0.40 525.00 \$25.00 \$2 | 01/27/2023 | | • | 0.50 | 340.00 | \$ 170.00 |
| 01/29/2023 Continue drafting of Womble retention application Kosman, Elazar A. (10329) 0.50 340.00 \$ 170.00 01/30/2023 Draft Womble retention application Kosman, Elazar A. (10329) 5.70 340.00 \$ 1,938.00 01/30/2023 Draft potential interested parties list (10329) Kosman, Elazar A. (10329) 1.70 340.00 \$ 578.00 01/30/2023 Telephone call with E. Kosman regarding parties-in-interest list for Womble Bond retention application (2.1); email to E. Kosman regarding same (.1) Giobbe, Cynthia M.* (10258) 2.40 350.00 \$ 840.00 01/31/2023 Multiple calls with E. Kosman regarding retention issues Detweiler, Donald J. (10135) 0.20 785.00 \$ 157.00 01/31/2023 Draft retention application Kosman, Elazar A. (10329) 2.00 340.00 \$ 680.00 01/31/2023 Prepare potential conflicts result Kosman, Elazar A. (10329) 1.80 340.00 \$ 612.00 02/03/2023 Review draft of WBD retention application Jickinson retention application (.1) Detweiler, Donald J. (10135) 0.50 785.00 \$ 392.50 02/03/2023 Prepare/revise notice regarding Womble Bond Dickinson retention applicat | 01/27/2023 | communicate with Mr. Detweiler and Mr. | | 0.30 | 525.00 | \$ 157.50 |
| application (10329) 01/30/2023 Draft Womble retention application Kosman, Elazar A. (10329) 01/30/2023 Draft potential interested parties list Kosman, Elazar A. (10329) 01/30/2023 Telephone call with E. Kosman regarding parties-in-interest list (.2); prepare parties-in-interest list for Womble Bond retention application (2.1); email to E. Kosman regarding same (.1) 01/31/2023 Multiple calls with E. Kosman regarding retention issues 01/31/2023 Draft retention application Kosman, Elazar A. (10329) 01/31/2023 Draft retention application Kosman, Elazar A. (10329) 01/31/2023 Prepare potential conflicts result Kosman, Elazar A. (10329) 02/03/2023 Review draft of WBD retention application Detweiler, Donald J. (10135) 02/03/2023 Prepare/revise notice regarding Womble Bond Dickinson retention application (.1) M.* (10258) 02/05/2023 Review and consider draft WBD retention Atkinson, Todd A. 0.40 525.00 \$ 210.00 | 01/29/2023 | Draft list of interested parties | | 4.00 | 340.00 | \$ 1,360.00 |
| 01/30/2023 Draft potential interested parties list Kosman, Elazar A. (10329) 1.70 340.00 \$578.00 01/30/2023 Telephone call with E. Kosman regarding parties-in-interest list (.2); prepare parties-in-interest list for Womble Bond retention application (2.1); email to E. Kosman regarding same (.1) Giobbe, Cynthia M.* (10258) 2.40 350.00 \$840.00 \$840.00 01/31/2023 Multiple calls with E. Kosman regarding retention issues Detweiler, Donald J. (10135) 0.20 785.00 \$157.00 \$157.00 01/31/2023 Draft retention application Kosman, Elazar A. (10329) 2.00 340.00 \$680.00 \$680.00 01/31/2023 Prepare potential conflicts result Kosman, Elazar A. (10329) 1.80 340.00 \$612.00 \$612.00 02/03/2023 Review draft of WBD retention application Detweiler, Donald J. (10135) 0.50 785.00 \$392.50 02/03/2023 Prepare/revise notice regarding Womble Bond Dickinson retention application (.1) Giobbe, Cynthia M.* (10258) 0.10 350.00 \$350.00 \$350.00 02/05/2023 Review and consider draft WBD retention Atkinson, Todd A. 0.40 525.00 \$250.00 \$210.00 | 01/29/2023 | <u> </u> | | 0.50 | 340.00 | \$ 170.00 |
| O1/30/2023 Telephone call with E. Kosman regarding parties-in-interest list (2); prepare parties-in-interest list for Womble Bond retention application (2.1); email to E. Kosman regarding same (.1) O1/31/2023 Multiple calls with E. Kosman regarding retention issues O1/31/2023 Draft retention application O1/31/2023 Prepare potential conflicts result Kosman, Elazar A. (10329) O1/31/2023 Prepare potential conflicts result Kosman, Elazar A. (10329) O2/03/2023 Review draft of WBD retention application Detweiler, Donald (10329) Elazar A. (10329) Detweiler, Donald (10329) Detweiler, Donald (10329) Detweiler, Donald (10329) Detweiler, Donald (10329) Prepare potential conflicts result Kosman, Elazar A. (1.80 (10329) Detweiler, Donald (10329) Review draft of WBD retention application (10329) Detweiler, Donald (1 | 01/30/2023 | Draft Womble retention application | | 5.70 | 340.00 | \$ 1,938.00 |
| parties-in-interest list (.2); prepare parties-in-interest list for Womble Bond retention application (2.1); email to E. Kosman regarding same (.1) O1/31/2023 Multiple calls with E. Kosman regarding retention issues Detweiler, Donald J. (10135) O1/31/2023 Draft retention application Kosman, Elazar A. (2.00 340.00 \$680.00 (10329) O1/31/2023 Prepare potential conflicts result Kosman, Elazar A. (1.80 340.00 \$612.00 (10329) O2/03/2023 Review draft of WBD retention application Detweiler, Donald J. (10135) Detweiler, Donald O.50 785.00 \$392.50 J. (10135) O2/03/2023 Prepare/revise notice regarding Womble Bond Dickinson retention application (.1) Review and consider draft WBD retention Atkinson, Todd A. 0.40 525.00 \$210.00 | 01/30/2023 | Draft potential interested parties list | | 1.70 | 340.00 | \$ 578.00 |
| Solution | 01/30/2023 | parties-in-interest list (.2); prepare parties-in-interest list for Womble Bond retention application (2.1); email to E. Kosman regarding | | 2.40 | 350.00 | \$ 840.00 |
| 01/31/2023 Prepare potential conflicts result Kosman, Elazar A. (10329) 02/03/2023 Review draft of WBD retention application Detweiler, Donald J. (10135) 02/03/2023 Prepare/revise notice regarding Womble Bond Dickinson retention application (.1) 02/05/2023 Review and consider draft WBD retention Atkinson, Todd A. 0.40 525.00 \$ 210.00 | 01/31/2023 | | | 0.20 | 785.00 | \$ 157.00 |
| (10329) 02/03/2023 Review draft of WBD retention application Detweiler, Donald J. (10135) 02/03/2023 Prepare/revise notice regarding Womble Bond Dickinson retention application (.1) 02/05/2023 Review and consider draft WBD retention Atkinson, Todd A. 0.50 785.00 \$392.50 0.50 \$35.00 0.50 \$35.00 0.50 \$35.00 0.70 \$35.00 | 01/31/2023 | Draft retention application | | 2.00 | 340.00 | \$ 680.00 |
| J. (10135) 02/03/2023 Prepare/revise notice regarding Womble Bond Dickinson retention application (.1) 02/05/2023 Review and consider draft WBD retention Giobbe, Cynthia 0.10 350.00 \$35.00 M.* (10258) Atkinson, Todd A. 0.40 525.00 \$210.00 | 01/31/2023 | Prepare potential conflicts result | | 1.80 | 340.00 | \$ 612.00 |
| Dickinson retention application (.1) M.* (10258) 02/05/2023 Review and consider draft WBD retention Atkinson, Todd A. 0.40 525.00 \$ 210.00 | 02/03/2023 | Review draft of WBD retention application | | 0.50 | 785.00 | \$ 392.50 |
| , | 02/03/2023 | | | 0.10 | 350.00 | \$ 35.00 |
| | 02/05/2023 | | | 0.40 | 525.00 | \$ 210.00 |

| Tricida, Inc Tricida, Inc | c. Official Committee of Unsecured Creditors c. | | | 117789.000 | 1.1/4780888 |
|------------------------------|--|---------------------------------|-----------|------------|--------------|
| | communicate with Mr. Detweiler regarding same (.1) | | | | |
| 02/06/2023 | Finish drafting retention application | Kosman, Elazar A. (10329) | 3.00 | 340.00 | \$ 1,020.00 |
| 02/06/2023 | Email to/from D. Detweiler regarding Womble Bond retention application (.2); prepare application, notice, exhibits (x3) and certificate of service for filing (.6); email to/from E. Kosman regarding revisions to schedule 2 (.1); revise schedule 1 to exhibit C (.1); email to E. Kosman regarding revisions to retention application (.1); revise retention application (.9) | Giobbe, Cynthia M.* (10258) | 2.00 | 350.00 | \$ 700.00 |
| 02/14/2023 | Telephone call with D. Detweiler and E. Kosman regarding Womble Bond retention application (.1); revise same (.3) | Giobbe, Cynthia M.* (10258) | 0.40 | 350.00 | \$ 140.00 |
| 02/15/2023 | Revise retention application and affidavits on disclosures | Kosman, Elazar A. (10329) | 3.00 | 340.00 | \$ 1,020.00 |
| 02/16/2023 | Email (x3) to/from E. Kosman regarding Womble Bond retention application (.1); revise notice, certificate of service of application (.1); prepare application, notice, exhibits and COS for filing (.2); efile same (.1); coordinate service of same (.1); email to D. Detweiler regarding filing (.1) | Giobbe, Cynthia M.* (10258) | 0.70 | 350.00 | \$ 245.00 |
| 02/27/2023 | Email to/from D. Detweiler regarding Womble Bond retention application | Giobbe, Cynthia M.* (10258) | 0.10 | 350.00 | \$ 35.00 |
| 02/28/2023 | Prepare certificate of no objection regarding WBD retention application | Giobbe, Cynthia M.* (10258) | 0.40 | 350.00 | \$ 140.00 |
| | | | Total for | Task: | \$ 11,348.00 |
| BKRO - Reten | tion of Others | | | | |
| 01/27/2023 | Multiple calls E. Kosman regarding retention of others | Detweiler, Donald J. (10135) | 0.30 | 785.00 | \$ 235.50 |
| 01/27/2023 | Review and analyze Miller Buckfire retention application and related papers, including engagement letter (.6); research and analyze issues regarding same (.8) | Atkinson, Todd A. (530) | 1.40 | 525.00 | \$ 735.00 |
| 01/29/2023 | Review and analysis of Sierra Constellation and Young Conaway Retention Applications | Detweiler, Donald J. (10135) | 0.60 | 785.00 | \$ 471.00 |
| 01/30/2023 | Review Sidley Austin retention application and call with analysis of potential preference issues | Detweiler, Donald J. (10135) | 0.50 | 785.00 | \$ 392.50 |
| 01/30/2023 | Review and of Miller Buckfire retention application | Detweiler, Donald J. (10135) | 0.50 | 785.00 | \$ 392.50 |
| 02/01/2023 | Multiple emails regarding Miller Buckfire retention issues | Detweiler, Donald J. (10135) | 0.40 | 785.00 | \$ 314.00 |

| Tricida, Ind Tricida, Ind | c. Official Committee of Unsecured Creditors | | | 117789.000 ⁻ | 1.1/4780888 |
|------------------------------|--|---------------------------------|------|-------------------------|-------------|
| 02/01/2023 | Emails and calls with Committee regarding objection to Miller Buckfire retention application | Detweiler, Donald J. (10135) | 1.00 | 785.00 | \$ 785.00 |
| 02/01/2023 | Draft sale and auction objection | Detweiler, Donald J. (10135) | 3.00 | 785.00 | \$ 2,355.00 |
| 02/01/2023 | Object to wage motions | Detweiler, Donald J. (10135) | 0.20 | 785.00 | \$ 157.00 |
| 02/01/2023 | Communicate with Mr. Detweiler regarding Sidley Austin and Miller Buckfire retention applications (.2); review correspondences to Debtor's counsel (.1) and Committee (.1) regarding same | Atkinson, Todd A. (530) | 0.40 | 525.00 | \$ 210.00 |
| 02/02/2023 | Review professional retention application regarding Sierra Constellation | Detweiler, Donald J. (10135) | 0.30 | 785.00 | \$ 235.50 |
| 02/02/2023 | Review professional retention application regarding Young Conaway | Detweiler, Donald J. (10135) | 0.30 | 785.00 | \$ 235.50 |
| 02/02/2023 | Review professional retention application regarding Sidley Austin and questions concerning retention payments | Detweiler, Donald J. (10135) | 0.50 | 785.00 | \$ 392.50 |
| 02/02/2023 | Review professional retention application regarding Miller Buckfire and questions concerning section 328 retention | Detweiler, Donald J. (10135) | 0.40 | 785.00 | \$ 314.00 |
| 02/02/2023 | Review Miller Buckfire retention application and request for approval of section 328 retention | Detweiler, Donald J. (10135) | 0.70 | 785.00 | \$ 549.50 |
| 02/02/2023 | Multiple telephone calls and emails S. Beach regarding Sidley retention application and Miller Buckfire retention application | Detweiler, Donald J. (10135) | 0.50 | 785.00 | \$ 392.50 |
| 02/02/2023 | Review Sidley retention application; prepare spreadsheet of prepetition payments and treatment of payments | Detweiler, Donald J. (10135) | 0.90 | 785.00 | \$ 706.50 |
| 02/02/2023 | Research write memo on Miller Buckfire retention issues | Kosman, Elazar A. (10329) | 3.40 | 340.00 | \$ 1,156.00 |
| 02/02/2023 | Review and consider Committee correspondences regarding Miller Buckfire retention application (.2); discuss same Mr. Detweiler (.3); research and analyze issues in support of objection to Miller Buckfire retention (2.3); draft objection to Miller Buckfire retention application (3.5); discuss Sidley retention application issues with Mr. Detweiler (.1) | Atkinson, Todd A. (530) | 6.40 | 525.00 | \$ 3,360.00 |
| 02/03/2023 | Meeting M. Ward regarding interview of financial advisors | Detweiler, Donald J. (10135) | 0.30 | 785.00 | \$ 235.50 |
| 02/03/2023 | Meeting M. Ward regarding Committee selection of financial advisors | Detweiler, Donald J. (10135) | 0.10 | 785.00 | \$ 78.50 |

Tricida, Inc. Official Committee of Unsecured Creditors

Tricida, Inc. Telephone call US Trustee regarding Sidley 0.20 02/03/2023 Detweiler, Donald 785.00 \$ 157.00 Austin prepetition payments J. (10135) 02/03/2023 Telephone call S. Beach regarding Sidley Austin Detweiler, Donald 0.20 785.00 \$ 157.00 prepetition payments and Miller Buckfire J. (10135) retention issues 02/03/2023 Review and revise objection to Miller Buckfire Detweiler, Donald 0.40 785.00 \$ 314.00 J. (10135) retention Detweiler, Donald 02/03/2023 Multiple calls with T. Atkinson regarding 0.30 785.00 \$ 235.50 objection to Miller Buckfire retention J. (10135) Detweiler, Donald \$ 314.00 02/03/2023 Multiple calls E. Kosman regarding Debtor 0.40 785.00 retention applications and research and J. (10135) information needed in connection with applications 02/03/2023 Correspondences with D. Detweiler regarding Ward, Matthew P. 0.20 785.00 \$ 157.00 Sidley retention (2176)Research prior Miller Buckfire retention Kosman, Elazar A. 02/03/2023 4.70 340.00 \$ 1,598.00 applications for comparison in present case (10329)Atkinson, Todd A. 0.70 02/03/2023 Phone call with Mr. Detweiler and Mr. Ward 525.00 \$ 367.50 regarding financial advisor interviews (.1); review (530)correspondences regarding same (.1); attend financial advisor presentations (.5) 02/03/2023 Research and analyze issues in support of Atkinson, Todd A. 3.40 525.00 \$ 1.785.00 objection to Miller Buckfire retention (1.4); (530)discuss same with Mr. Detweiler and Sidley retention issues (.2); review and consider draft Pillowtex analysis regarding Sidley prepetition payments (.3); review and revise draft objection to Miller Buckfire retention application (1.1); discuss same with Mr. Detweiler (.2); communicate with Committee Members regarding MB objection (.1); communicate with Ms. Giobbe regarding filing of same (.1) 02/03/2023 Email (x2) to/from E. Kosman regarding Miller Giobbe, Cynthia 1.30 350.00 \$ 455.00 Buckfire retention application (.2); assist in M.* (10258) research regarding same (1.1) 02/04/2023 Teleconference and correspondences with D. Ward, Matthew P. 0.40 785.00 \$ 314.00 Detweiler and J. Gansman regarding document (2176)requests 02/04/2023 Draft discovery directed to Debtor and Miller Detweiler, Donald 0.80 785.00 \$628.00 Buckfire regarding Miller Buckfire retention J. (10135) Email to Debtor regarding discovery directed to 0.20 02/04/2023 Detweiler, Donald 785.00 \$ 157.00 Debtor and Miller Buckfire regarding Miller J. (10135) Buckfire retention 02/04/2023 Detweiler, Donald 0.20 785.00 Email working group regarding comparable \$ 157.00

| | investment banker retentions | J. (10135) | | | |
|------------|--|---------------------------------|------|--------|-------------|
| 02/04/2023 | Review email from Debtor regarding Sidley retention and employee wage motion | Detweiler, Donald J. (10135) | 0.10 | 785.00 | \$ 78.50 |
| 02/04/2023 | Review email from Debtor regarding Sidley supplemental retention information | Detweiler, Donald J. (10135) | 0.20 | 785.00 | \$ 157.00 |
| 02/05/2023 | Telephone call D. Klein regarding retention of Miller Buckfire | Detweiler, Donald J. (10135) | 0.20 | 785.00 | \$ 157.00 |
| 02/05/2023 | Multiple emails to Debtor's counsel regarding Miller Buckfire Retention | Detweiler, Donald J. (10135) | 0.20 | 785.00 | \$ 157.00 |
| 02/05/2023 | Review comparable case analysis involving investment banker retentions in pharmaceutical cases | Detweiler, Donald J. (10135) | 0.40 | 785.00 | \$ 314.00 |
| 02/05/2023 | Research comparable rates for Investment Bankers for comparison in present case | Kosman, Elazar A. (10329) | 3.30 | 340.00 | \$ 1,122.00 |
| 02/06/2023 | Multiple teleconferences with J. Gansman regarding Miller Buckfire negotiations (.8); teleconference with D. Detweiler regarding same (.1); review debtors' deposition notice and document requests (.2) | Ward, Matthew P. (2176) | 1.10 | 785.00 | \$ 863.50 |
| 02/06/2023 | Work on Miller Buckfire retention issues | Detweiler, Donald J. (10135) | 2.00 | 785.00 | \$ 1,570.00 |
| 02/06/2023 | Send proposed settlement offers to resolve Miller Buckfire retention objection | Detweiler, Donald J. (10135) | 2.00 | 785.00 | \$ 1,570.00 |
| 02/06/2023 | Calls with Debtor's counsel Miller Buckfire retention proposal | Detweiler, Donald J. (10135) | 1.00 | 785.00 | \$ 785.00 |
| 02/06/2023 | Review Miller Buckfire engagement letters and retention application and refine and narrow issues for retention hear | Detweiler, Donald J. (10135) | 2.00 | 785.00 | \$ 1,570.00 |
| 02/06/2023 | Research additional details on investment banker compensation | Kosman, Elazar A. (10329) | 2.60 | 340.00 | \$ 884.00 |
| 02/06/2023 | Review and analyze discovery requests involving Miller Buckfire retention (.2); multiple phone calls with Mr. Detweiler regarding Miller Buckfire objection issues and negotiations relative to same (.4); discuss same with Mr. Gansman (.3); communicate with Committee Members regarding proposed resolution of Miller Buckfire objection (.3); review and consider Miller Buckfire retention application and engagement letter issues relative to objection (.3); review request for production of documents and deposition notice and related correspondence from Debtor's counsel (.3); review Debtor's objections and responses to Committee discovery requests and related | Atkinson, Todd A. (530) | 3.10 | 525.00 | \$ 1,627.50 |

| | documents produced regarding same (.5); communicate with Mr. Detweiler regarding same (.2); review and consider multiple correspondences regarding objection negotiations and settlement communications with Debtor's counsel and Miller Buckfire (.3); review related correspondences with the Committee (.3) | | | | |
|------------|---|---------------------------------|------|--------|-------------|
| 02/06/2023 | Phone call with Mr. Gansman regarding Rock Creek retention application (.1); communicate with Mr. Kosman regarding same (.1) | Atkinson, Todd A. (530) | 0.20 | 525.00 | \$ 105.00 |
| 02/06/2023 | Join negotiations over investment banker compensation | Kosman, Elazar A. (10329) | 0.50 | 340.00 | \$ 170.00 |
| 02/06/2023 | Meet with Mr. Detweiler to discuss Investment Banker research and negotiations | Kosman, Elazar A. (10329) | 0.70 | 340.00 | \$ 238.00 |
| 02/06/2023 | Review entered interim comp order (.2); calendar deadlines regarding same (.2) | Giobbe, Cynthia M.* (10258) | 0.40 | 350.00 | \$ 140.00 |
| 02/07/2023 | Meetings with D. Detweiler regarding Miller Buckfire retention and hearing (.5); video meeting with Committee regarding same (.5); meeting with B. Ayers at Rock Creek in preparation for deposition (.5) | Ward, Matthew P. (2176) | 1.50 | 785.00 | \$ 1,177.50 |
| 02/07/2023 | Telephone call S. Beach regarding Miller Buckfire retention | Detweiler, Donald J. (10135) | 0.20 | 785.00 | \$ 157.00 |
| 02/07/2023 | Prepare for deposition of Miller Buckfire | Detweiler, Donald J. (10135) | 3.00 | 785.00 | \$ 2,355.00 |
| 02/07/2023 | Call with Committee members regarding Miller Buckfire retention | Detweiler, Donald J. (10135) | 0.50 | 785.00 | \$ 392.50 |
| 02/07/2023 | Meeting with Mr. Detweiler to discuss objection to investment banker retention | Kosman, Elazar A. (10329) | 0.70 | 340.00 | \$ 238.00 |
| 02/07/2023 | Prepare for contested hearing over investment banker retention | Kosman, Elazar A. (10329) | 5.30 | 340.00 | \$ 1,802.00 |
| 02/07/2023 | Phone calls with Mr. Detweiler regarding Miller Buckfire objection and discovery issues (.3); review and consider Miller Buckfire slide presentation (.1); communicate with Mr. Detweiler regarding same (.1); draft deposition outline (.6); review Debtor's documents and exhibits relative to Miller Buckfire retention and hearing (.8); discuss same with Mr. Detweiler (.3); research and analyze issues in support of Miller Buckfire objection (.7) | Atkinson, Todd A. (530) | 2.90 | 525.00 | \$ 1,522.50 |
| 02/08/2023 | Teleconferences and correspondences with D. Detweiler regarding Miller Buckfire objection and negotiations (.4); teleconference with J. Gansman regarding same (.1); review/analyze | Ward, Matthew P. (2176) | 0.90 | 785.00 | \$ 706.50 |

| Tricida, Ind Tricida, Ind | c. Official Committee of Unsecured Creditors | | , | 117789.0001 | 1.1/4780888 |
|------------------------------|--|---------------------------------|------|-------------|-------------|
| | debtors' reply brief (.4) | | | | |
| 02/08/2023 | Prepare for deposition of Alex Rohan | Detweiler, Donald J. (10135) | 1.50 | 785.00 | \$ 1,177.50 |
| 02/08/2023 | Prepare for deposition of Bob McKague | Detweiler, Donald J. (10135) | 1.20 | 785.00 | \$ 942.00 |
| 02/08/2023 | Prepare for deposition of Lawrence Perkins | Detweiler, Donald J. (10135) | 1.50 | 785.00 | \$ 1,177.50 |
| 02/08/2023 | Multiple telephone calls T. Atkinson regarding depositions relating to Miller Buckfire retention | Detweiler, Donald J. (10135) | 0.60 | 785.00 | \$ 471.00 |
| 02/08/2023 | Prepare for depositions | Detweiler, Donald J. (10135) | 0.70 | 785.00 | \$ 549.50 |
| 02/08/2023 | Multiple telephone calls and emails Debtor's counsel regarding Miller Buckfire retention, depositions and hearing exhibits | Detweiler, Donald J. (10135) | 0.70 | 785.00 | \$ 549.50 |
| 02/08/2023 | Review research on 328(a) retention and retention issues | Detweiler, Donald J. (10135) | 0.70 | 785.00 | \$ 549.50 |
| 02/08/2023 | Engage with depositions and settlement negotiations | Kosman, Elazar A. (10329) | 7.50 | 340.00 | \$ 2,550.00 |
| 02/08/2023 | Review multiple deposition exhibits and related documents in advance of depositions (.6); phone calls with Mr. Ayers and Mr. Gansman regarding depositions and case issues (.2); communications with Mr. Detweiler relative to Miller Buckfire litigation and depositions, including concerning negotiation and potential settlement of Miller Buckfire retention application (.8); review and consider draft proposed agreements and order approving retention relative to same (.3); draft proposed changes to order approving Miller Buckfire retention application (.3); communicate with Mr. Detweiler (.1) and Debtor's counsel (.1) regarding same; review certification of counsel regarding Miller Buckfire retention and related proposed order (.3) | Atkinson, Todd A. (530) | 2.70 | 525.00 | \$ 1,417.50 |
| 02/08/2023 | Assist in preparation for depositions regarding Miller Buckfire objection (.5); email (x4) to/from D. Detweiler regarding same (.2); email (x6) to/from E. Kosman regarding same (.3) | Giobbe, Cynthia M.* (10258) | 1.00 | 350.00 | \$ 350.00 |
| 02/09/2023 | Prepare for and take A. Rohan deposition | Detweiler, Donald J. (10135) | 2.40 | 785.00 | \$ 1,884.00 |
| 02/09/2023 | Confer with E. Kosman on 328(a) research and issues for hearing on Miller Buckfire retention hearing | Detweiler, Donald J. (10135) | 0.80 | 785.00 | \$ 628.00 |
| 02/09/2023 | Multiple emails, telephone calls and exchanging | Detweiler, Donald | 0.80 | 785.00 | \$ 628.00 |
| | Page | 34 | | | |

Tricida, Inc. Official Committee of Unsecured Creditors

| Tricida, Ind | c. Official Committee of Offsecured Oreutors | | | 117709.000 | 1.1747 00000 |
|--------------|--|---------------------------------|------|------------|--------------|
| | drafts of proposed Miller Buckfire Retention Order with Debtor's counsel | J. (10135) | | | |
| 02/09/2023 | Multiple emails, telephone calls and exchanging drafts of posed MBF retention order with T. Atkinson and discussions of changes/revisions | Detweiler, Donald J. (10135) | 0.50 | 785.00 | \$ 392.50 |
| 02/09/2023 | Draft Rock Creek retention application | Kosman, Elazar A. (10329) | 6.50 | 340.00 | \$ 2,210.00 |
| 02/09/2023 | Communicate with Mr. Kosman regarding Rock Creek retention application and related issues | Atkinson, Todd A. (530) | 0.20 | 525.00 | \$ 105.00 |
| 02/10/2023 | Draft Rock Creek Retention Application | Kosman, Elazar A. (10329) | 1.40 | 340.00 | \$ 476.00 |
| 02/10/2023 | Review and revise draft Rock Creek retention application and related papers (.3); research and analyze issues regarding same (.2); communicate with Mr. Kosman regarding draft Rock Creek application (.1) | Atkinson, Todd A. (530) | 0.60 | 525.00 | \$ 315.00 |
| 02/13/2023 | Review retention applications and disclosures | Detweiler, Donald J. (10135) | 0.40 | 785.00 | \$ 314.00 |
| 02/13/2023 | Draft retention application for Rock Creek | Kosman, Elazar A. (10329) | 3.10 | 340.00 | \$ 1,054.00 |
| 02/14/2023 | Draft Retention Application for Rock Creek | Kosman, Elazar A. (10329) | 2.10 | 340.00 | \$ 714.00 |
| 02/14/2023 | Review and provide comments to draft Rock Creek retention application (.3); communicate with Mr. Kosman regarding same (.1) | Atkinson, Todd A. (530) | 0.40 | 525.00 | \$ 210.00 |
| 02/14/2023 | Review emails from B. Ayers regarding Rock Creek retention application (.2); email to/from D. Detweiler and E. Kosman regarding same (.1) | Giobbe, Cynthia M.* (10258) | 0.30 | 350.00 | \$ 105.00 |
| 02/15/2023 | Draft Rock Creek retention application | Kosman, Elazar A. (10329) | 3.30 | 340.00 | \$ 1,122.00 |
| 02/15/2023 | Email (x4) to/from T. Atkinson regarding Rock Creek retention application (.2); review retention application, order, declaration (.6); revise retention application (.4); email to E. Kosman regarding revisions to retention application (.1); prepare redlines regarding same (.1); email to D. Detweiler, T. Atkinson and E. Kosman regarding final revisions (.1); prepare notice and certificate of service regarding same (.2); email (x7) to/from E. Kosman regarding Rock Creek retention application and revisions (.3) | Giobbe, Cynthia M.* (10258) | 2.00 | 350.00 | \$ 700.00 |
| 02/16/2023 | Email (x3) to/from E. Kosman regarding Rock Creek retention application (.1); revise notice, certificate of service of application (.1); prepare application, notice, exhibits and COS for filing | Giobbe, Cynthia M.* (10258) | 0.70 | 350.00 | \$ 245.00 |

| Tricida, Inc Tricida, Inc | c. Official Committee of Unsecured Creditors | | | 117789.000 | 1.1/4780888 |
|------------------------------|---|---------------------------------|-----------|------------|--------------|
| | (.2); efile same (.1); coordinate service of same (.1); email to D. Detweiler regarding filing (.1) | | | | |
| 02/27/2023 | Teleconferences with J. Gansman regarding Rock Creek retention application and UST comments | Ward, Matthew P. (2176) | 0.50 | 785.00 | \$ 392.50 |
| 02/27/2023 | Edit Rock Creek retention order and declaration | Kosman, Elazar A. (10329) | 2.10 | 340.00 | \$ 714.00 |
| 02/27/2023 | Email to/from D. Detweiler regarding Rock Creek retention application objections (.1); meeting with E. Kosman regarding same (.2) | Giobbe, Cynthia M.* (10258) | 0.30 | 350.00 | \$ 105.00 |
| 02/28/2023 | Correspondences with D. Detweiler regarding Rock Creek retention application (.1); teleconference with J. Gansman regarding same (.1) | Ward, Matthew P. (2176) | 0.20 | 785.00 | \$ 157.00 |
| 02/28/2023 | Review email from M. Ward regarding Rock Creek retention application | Giobbe, Cynthia M.* (10258) | 0.10 | 350.00 | \$ 35.00 |
| | | | Total for | Task: | \$ 62,599.00 |
| BKRS - Repor | ts and Schedules | | | | |
| 01/30/2023 | Review Debtor's Schedules and Statements | Atkinson, Todd A. (530) | 0.30 | 525.00 | \$ 157.50 |
| 02/02/2023 | Review Schedules and Statements filed by Debtor; confer with T. Atkinson regarding same | Detweiler, Donald J. (10135) | 1.20 | 785.00 | \$ 942.00 |
| 02/02/2023 | Review Schedules and Statements; confer with D. Detweiler regarding same | Atkinson, Todd A. (530) | 0.20 | 525.00 | \$ 105.00 |
| 02/14/2023 | Review Debtor's Schedules and Statements regarding potential liabilities and claims to be assumed under sale | Detweiler, Donald J. (10135) | 0.70 | 785.00 | \$ 549.50 |
| | | | Total for | Task: | \$ 1,754.00 |
| BKTI - Tax Iss | ues | | | | |
| 02/13/2023 | Review and consider correspondence from Ms. Healy and related 382 NOL analysis (.3); review SOFA relative to same (.1); communicate with Mr. Detweiler with comments to NOL analysis (.1) | Atkinson, Todd A. (530) | 0.50 | 525.00 | \$ 262.50 |
| 02/27/2023 | Review and reply to emails from Don Detweiler regarding proposed grantor trust and distribution plan; call from Don Detweiler regarding same; review draft distribution plan and disclosure statement | Jones, Jane Jeffries (988) | 0.70 | 895.00 | \$ 626.50 |
| 02/27/2023 | Research regarding tax issues associated with structuring of bankruptcy trusts and payout of contingent payments | Lawyer, Jeffrey T. (140) | 1.30 | 875.00 | \$ 1,137.50 |

| | Case 23-10024-JTD Doc 443-2 | Filed 05/09/23 | Page 38 of 40 | |
|------------------------------|---|---------------------------------|-----------------|--------------|
| Tricida, Inc Tricida, Inc | c. Official Committee of Unsecured Creditors | | 117789.000 | 01.1/4780888 |
| 02/28/2023 | Review of tax issues regarding structuring of trust or other means of holding rights to contingent payments; review of relevant parts of bankruptcy plan and disclosure statement | Lawyer, Jeffrey T. (140) | 2.50 875.00 | \$ 2,187.50 |
| | | | Total for Task: | \$ 4,214.00 |
| BKTM - US Tr | ustee Matters | | | |
| 02/15/2023 | Attend and participate in 341 meeting of creditors | Detweiler, Donald J. (10135) | 1.00 785.00 | \$ 785.00 |
| 02/15/2023 | Prepare for and attend 341 meeting (1.0); discuss same with Mr. Detweiler, Mr. Gansman and Mr. Ayers (.3) | Atkinson, Todd A. (530) | 1.30 525.00 | \$ 682.50 |
| | | | Total for Task: | \$ 1,467.50 |
| BKTT - Travel | Time | | | |
| 02/15/2023 | Travel to New York for auction | Detweiler, Donald J. (10135) | 2.00 785.00 | \$ 1,570.00 |
| 02/15/2023 | Travel from New York to auction | Detweiler, Donald J. (10135) | 2.00 785.00 | \$ 1,570.00 |
| 02/15/2023 | Review and consider order approving bidding procedures and company background documents, including first-day declaration (.9); 1/2 travel time to New York to attend sale auction (1.5) | Atkinson, Todd A. (530) | 2.40 525.00 | \$ 1,260.00 |
| 02/16/2023 | Travel to and from auction | Detweiler, Donald J. (10135) | 4.00 785.00 | \$ 3,140.00 |
| 02/16/2023 | 1/2 travel time from Auction in New York | Atkinson, Todd A. (530) | 1.50 525.00 | \$ 787.50 |
| | | | Total for Task: | \$ 8,327.50 |

Total for Services:

\$ 355,141.00

^{*} If an asterisk appears above, it designates a Legal Assistant or other non-lawyer professional.

117789.0001.1/4780888

TIMEKEEPER SUMMARY

| Attorney: | | Hours: | Amount: | Rate: |
|------------------------|---------|--------|---------------|-----------|
| Jones, Jane Jeffries | | 0.90 | \$ 805.50 | \$ 895.00 |
| Ward, Matthew P. | | 10.30 | \$ 8,085.50 | \$ 785.00 |
| Perumal, Karthika | | 47.60 | \$ 39,270.00 | \$ 825.00 |
| Detweiler, Donald J. | | 179.10 | \$ 140,593.50 | \$ 785.00 |
| Ambler, Jr., Robert R. | | 26.60 | \$ 25,004.00 | \$ 940.00 |
| Lawyer, Jeffrey T. | | 3.80 | \$ 3,325.00 | \$ 875.00 |
| DeHart, Michael R. | | 2.30 | \$ 1,506.50 | \$ 655.00 |
| Atkinson, Todd A. | | 120.00 | \$ 63,000.00 | \$ 525.00 |
| Hickman, Matthew L. | | 15.40 | \$ 5,698.00 | \$ 370.00 |
| Kosman, Elazar A. | | 141.00 | \$ 47,940.00 | \$ 340.00 |
| Hall, Heather K.* | | 1.80 | \$ 558.00 | \$ 310.00 |
| Giobbe, Cynthia M.* | | 55.30 | \$ 19,355.00 | \$ 350.00 |
| | Totals: | 604.10 | \$ 355,141.00 | |

^{*} If an asterisk appears above, it designates a Legal Assistant or other non-lawyer professional.

117789.0001.1/4780888

| | TASK SUMMARY BILLING INFORMA | ATION | |
|-----------|---|--------|---------------|
| Task Code | Task Description | Hours | Amount |
| BKAA | Asset Analysis/Estate Property Due Diligence | 23.80 | \$ 19,467.00 |
| BKAD | Asset Disposition - General | 147.40 | \$ 98,148.00 |
| BKAV | Adversary | 14.60 | \$ 4,964.00 |
| BKB | Investigation of Claims | 46.30 | \$ 38,795.00 |
| BKBD | Bar Date | 1.40 | \$ 1,073.00 |
| BKBO | Business Operations/Meetings with Debtor | 1.40 | \$ 943.00 |
| BKC | Creditors Committee Meeting/Conferences | 35.80 | \$ 22,796.50 |
| BKCC | Cash Collateral | 0.40 | \$ 140.00 |
| BKCI | Creditor Information Sharing/1102 Matters | 0.50 | \$ 392.50 |
| BKDIS | Discovery | 18.10 | \$ 7,791.00 |
| BKDS | Disclosure Statement | 39.60 | \$ 21,417.00 |
| BKE | Executory Contracts/Lease Agreements | 0.80 | \$ 411.00 |
| BKEB | Employee Benefits | 1.50 | \$ 1,177.50 |
| BKF | Fee Application/Monthly Billing | 1.80 | \$ 630.00 |
| BKFDP | First Day Pleadings | 12.70 | \$ 6,585.50 |
| BKFE | Fee/Employment Objections | 7.10 | \$ 2,485.00 |
| BKFT | Estate Causes of Action (Non-Preference) | 2.00 | \$ 680.00 |
| BKG | General Case Administration | 13.80 | \$ 6,471.50 |
| BKGO | GOB Sale | 3.70 | \$ 1,295.00 |
| BKH | Court Hearings/Preparation/Agenda | 27.50 | \$ 13,168.00 |
| BKIC | Intra-Office Conference/Multi-Person Activities | 0.40 | \$ 314.00 |
| BKII | Insurance Issues | 0.90 | \$ 472.50 |
| BKM | Other Motion Practice | 11.10 | \$ 3,776.00 |
| BKO | Claims Administration | 1.20 | \$ 420.00 |
| BKPO | Plan of Reorganization | 19.50 | \$ 11,618.00 |
| BKRA | Retention of Applicant | 31.90 | \$ 11,348.00 |
| BKRO | Retention of Others | 117.30 | \$ 62,599.00 |
| BKRS | Reports and Schedules | 2.40 | \$ 1,754.00 |
| BKTI | Tax Issues | 5.00 | \$ 4,214.00 |
| BKTM | US Trustee Matters | 2.30 | \$ 1,467.50 |
| BKTT | Travel Time | 11.90 | \$ 8,327.50 |
| | Total | 604.10 | \$ 355,141.00 |

Use of Legal Support Service Providers

In an effort to continue delivering cost effective services, WBD (US) uses legal support service providers located both inside and outside the U.S. to assist with help desk and technology issues, word processing, time entry, photocopying and other administrative tasks. In order for these service providers to complete these tasks, we must share certain client information. WBD (US) has made reasonable efforts to ensure that these services are performed in a manner that is consistent with our firm's obligations under the relevant Rules of Professional Conduct with regard to maintaining client confidentiality and supervision of non-lawyer assistants, and the firm bears responsibility for the resulting work product. As part of the engagement with the firm, you agree and consent to the use of the services of these providers in the manner stated above.

Exhibit B

Detailed Accounting of Costs

117789.0001.1/4780888

DISBURSEMENTS AND OTHER CHARGES

| Date: | Description: | Amount: |
|--------------|--|-------------|
| Jan 25, 2023 | Express Delivery Charge Federal Express Corporation; 771121045785, Todd Atkinson, CLEVELAND, OH | \$ 51.98 |
| Jan 27, 2023 | Document Printing (Color) Reliable Wilmington - Digital Printing/Mailout Services/Envelopes Services/Hand Delivery | \$ 1,228.55 |
| Feb 8, 2023 | Deposition Transcript Reliable Wilmington - Video remote deposition transcript of Alex Rohan | \$ 2,293.88 |
| Feb 9, 2023 | Lodging Atkinson, Todd - 02/09/23 - Tricida Travel - Hearing to consider Miller Buckfire Retention Application - Courtyard by Marriott | \$ 218.90 |
| Feb 10, 2023 | Copying/Printing Reliable Wilmington - Exhibit binders | \$ 21.20 |
| Feb 10, 2023 | Document Printing (Color) Reliable Wilmington - Exhibit binders | \$ 195.00 |
| Feb 10, 2023 | Document Printing (Black & White) Reliable Wilmington - Exhibit binders | \$ 16.32 |
| Feb 15, 2023 | Transportation Atkinson, Todd - 02/15/23 - Tricida Travel - Auction at Sidley & Austin NYC Office - United Airlines | \$ 927.80 |
| Feb 15, 2023 | Transportation Atkinson, Todd - 02/15/23 - Tricida Travel - Auction at Sidley & Austin NYC Office - Amtrak | \$ 15.50 |
| Feb 15, 2023 | Travel Expense (Parking) Atkinson, Todd - 02/15/23 - Tricida Travel - Auction at Sidley & Austin NYC Office - Cleveland Hopkins Airport | \$ 44.00 |
| Feb 15, 2023 | Lodging Atkinson, Todd - 02/15/23 - Tricida Travel - Auction at Sidley & Austin NYC Office - Thompson Central Park | \$ 575.25 |
| Feb 15, 2023 | Business Meal Atkinson, Todd - 02/15/23 - Tricida Travel - Auction at Sidley & Austin NYC Office - Thompson Central Park | \$ 23.75 |
| Feb 15, 2023 | Travel Expense (Parking) Detweiler, Donald - 02/15/23 - Parking for Tricida auction - Riverfront Parking | \$ 11.00 |
| Feb 16, 2023 | Transportation Atkinson, Todd - 02/16/23 - Tricida Travel - Auction at Sidley & Austin NYC Office - United Airlines | \$ 19.00 |
| Feb 16, 2023 | Transportation Atkinson, Todd - 02/16/23 - Tricida Travel - Auction at Sidley & Austin NYC Office - | \$ 15.50 |

117789.0001.1/4780888

DISBURSEMENTS AND OTHER CHARGES

| | Amtrak | |
|--------------|---|-------------|
| Feb 16, 2023 | Transportation Atkinson, Todd - 02/16/23 - Tricida Travel - Auction at Sidley & Austin NYC Office - United Airlines | \$ 19.00 |
| Feb 16, 2023 | Travel Expense (Parking) Detweiler, Donald - 02/16/23 - Parking for Tricida auction - Riverfront Parking | \$ 11.00 |
| Feb 17, 2023 | Binding Reliable Wilmington - print, tab, put in binder | \$ 16.00 |
| Feb 21, 2023 | Business Meal SQ *CAVANAUGH'S RESTAURAN - Client Lunch | \$ 287.79 |
| Feb 22, 2023 | Binding Reliable Wilmington - print, tab, put in 1 inch binder x 8 | \$ 48.00 |
| Feb 25, 2023 | Transportation American Express Travel - Donald Detweiler, 02/15/23 - New York | \$ 358.00 |
| Feb 25, 2023 | Transportation American Express Travel - Donald Detweiler, 02/15/23 -Wilmington, DE | \$ 174.00 |
| Feb 25, 2023 | Transportation American Express Travel - Donald Detweiler, 02/16/23 - New York | \$ 464.00 |
| Feb 28, 2023 | Postage DLS Discovery, LLC - print, label, envelopes, & postage | \$ 173.94 |
| | Photocopies | \$ 818.76 |
| | Total Disbursements: | \$ 8,028.12 |

Any disbursement appearing on our statements as Business Meals and Entertainment is stated at cost. The Revenue Reconciliation Act of 1993 reduced the deductibility of these expenses to you from 80% to 50%. We maintain the supporting documentation for these costs and will make the documentation available to you upon request.

Case 23-10024-JTD Doc 443-4 Filed 05/09/23 Page 1 of 2

CERTIFICATE OF SERVICE

I, Donald J. Detweiler, do hereby certify that on May 9, 2023, I caused a copy of the

foregoing First Monthly Fee Application of Womble Bond Dickinson (US) LLP for

Compensation for Services Rendered and Reimbursement of Expenses as Counsel for the

Official Committee of Unsecured Creditors for the Period January 24, 2023 through

February 28, 2023 to be served on the parties listed on the attached service list via Electronic

Mail.

/s/ Donald J. Detweiler

Donald J. Detweiler (DE Bar No. 3087)

SERVICE PARTIES

Counsel to the Debtor

SIDLEY AUSTIN LLP

Attn.: Samuel A. Newman Jeri Leigh Miller Julia Philips Roth Charles Persons

555 West Fifth Street Los Angeles, CA 90013

Email: sam.newman@sidley.com jeri.miller@sidley.com julia.roth@sidley.com cpersons@sidley.com

Office of the United States Trustee for the District of Delaware

J. Caleb Boggs Federal Building Attn: Timothy J. Fox

844 King Street, Suite 2207 Wilmington, DE 19801

Email: timothy.fox@usdoj.gov

Counsel to the Debtor

YOUNG CONAWAY STARGATT

& TAYLOR, LLP

Attn: Sean M. Beach

Allison S. Mielke

Carol Cox

Andrew A. Mark

1000 N. King Street

Rodney Square

Wilmington, DE 19801

Email: sbeach@ycst.com

amielke@ycst.com ccox@ycst.com

amark@ycst.com